Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings Per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	Menu Planning Comments	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19
		Bid Submissions That Deviate From What is Being Requested in The Specifications Below Will be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.													
1027	SERVINGS	Muffin, WG, Carrot, IW: Whole grain carrot muffin. Individually warpped. Must meet 1 or grain equivalent for the child nutrition program. Product formulation statement or CN Label required. Approximate pack size: 96/crase. Ship Lot: 300 Cases	Muffintown -02611	124,800	Muffin Town	Net 30 days	Smart Choice	02611	96ct2oz. IW	96	\$0.28	1,300	\$27.26	\$35,443.20				AWARD
1048	SERVINGS	Meat Pie, Lossiana Mini - I/G Original, mini Calun seascond bedf and port filled meat jois in a pie cust sparty. Serving size to sequal a minimum of 2 oz. m/ma and 2 oz. grain equivalents for the Child Nutrition program. Must provide crediting statement. Approximate pack size is 96/case. Ship Lot: 400 Cases	Natchitoches Meat Pie Co. 30389	67,200	Schoolyard Belly	Payment is due within 30 days after receipt of invoice.	Natchitoches Meat Pie Co.	30389	96	24	\$2.14	2,800	\$51.36	\$143,808.00	n/a	3 weeks		AWARD
1662	SERVINGS	Potatoes, Rossted, Diced, Seasoned, Redskin - Frozen, Ovenable contains zero grams of trans fat. Herbs and/or spices should be clearly visible. One serving portion equals 172 cup cooked vegetable. Approximate Pack 4/4lb bags per case. Ship Lot: 600 Cases	McCain (MCPO4851)	123,000	Sysco Memphis LLC	NET30	McCain	MCF03927 - Sysco 0487983 - New item	6/5#	157	\$0.2518	783	\$39.53	\$30,969.36	Sample delivered 5/20/25 @7:31am	5-weeks		AWARD SAMPLE SENT SAMPLE PASSED
1674	SERVINGS	Bun, Breakfast - Frozen. Individually wrapped. Thaw and serve fortified bun. Entire bun must meet a minimum of 2.0 oz Grain Explivalents for the Child Nutrition Program. Approximately pack: 80-2.5 oz servings per case. Ship Lot: 300 Cases		350,000	CHURCHFIELD TRADING	NET 30	SKY BLUE	GWB5160	60/2.6OZ	60	\$0.75	5,833	\$45.53	\$265,591.67	#GWB5160- RENAMED #WWB5160 SAME PRODUCT 336CS MIN ORDER	14-21 DAYS		
1674	SERVINGS	Bun, Breakfast - Frozen, Individually wrapped. Thew and serve fortified bun. Entire bun must meet a minimum of 2.0 oz Crain Equivalents for the Child Nutrition Program. Approximately pack: 80-2.5 oz servings per case. Ship Lot: 300 Cases	Super Bakery 6060 Sky Blue GWB5160	350,000	Super Bakery	Net 30	GoodyBun	6060	2.75 oz.	80	\$0.43	4,375	\$34.48	\$150,850.00	200 case mixed product minimum for delivery	4		AWARD
1695	SERVINGS	Burrito, Dog Chill Cheese - Whole grain flour burrito filled with a whole beef hot dog, chill and cheese. Rem must be a minimum of 2 cz. whole beef hot dog, chill and cheese. Rem must be a minimum of 2 cz. whole burritors are considered provided alternation for hot distribution for program. But a packed approximately 60 servings per case. If packed differently, please indicate. Ship Lot: 300 Cases	Side Dish 5 CDB-6055	78,000	SIDE DISH 5	10 Days	SIDE DISH 5	BBC465	1	60	\$1.85	1,300	\$111.00	\$144,300.00				AWARD
1778	SERVINGS	Flat Bread, Soft, Whole Wheat, Frozen. Each flatbread to provide 2.0 oz equivalent grain per Child Mutrition Program. CN label or product Approximately packed 144-2oz flatbread/case. If packed differently, please indicate. Ship Lot: 100 Cases	Rich Products 20452 Rich's 14010	72,000	Rich's	2%10/Net 11	Rich's	25340	144/2.2 oz	144	0.226	500	\$32.53	\$16,265.00		2		AWARD PRODCUT CODE CHANGED, BUT NOT REFORMULATED
1780	SERVINGS	Hummus, Classic-Frozen, mixture of garbaro beams, Isbini, and gatic. Each serving to great in meatimest alternals per the child nutrition guidelines. Serving size must meet a minimum of 3 oz. Please provide CN label or product formulation sheet for crediting. Approximate pack size: 6/24cz per case. Ship Lot: 100 Cases	Grecian 4340	72,000	SIDE DISH 5	10 Days	SIDE DISH 5	нмн656	8	48	\$0.85	1,500	\$40.80	\$61,200.00				NO AWARD NOSAMPLE SENT
1867	SERVINGS	Sandwich, Soy/Nutless Butter and Grape Jelly - Frozen, individually wrapped. 1 serving to meet a minimum of 1 co of grain and 1 co meadment alternate equivalents per Child Nutrition Programs Standards. Please groode CN label or product formulation sheet for crediting. Approximate Pack. 72-2.6 cz/case. Ship Lot: 400 Cases	Albie's 607 SunWise Foods 12228	150,000	Albie's Food Products, LLC	240 cases/ 3 pallets minimum one SKU per pallet	Albie's EZ Jammer	607	72/2.4oz	72	\$0.74	2,083	\$52.92	\$110,250.00		1.5-2		

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings Per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	Menu Planning Comments	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19
		Bid Submissions That Deviate From What is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL DE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.													
1867	SERVINGS	Sandwich, SoyMutless Butter and Grape Jelly - Frozen, individually wrapped. 1 serving to meet a minimum of 1 oz of grain and 1 oz meatlment learned equivalents per Child Mutition Programs Standards. Please provide Chi label or product formulation sheet for crediting. Approximate Pack 72-2.8 oz/case. Ship Lot: 400 Cases	Albie's 607 SunWise Foods 12228	150,000	National Food Group	Net 30	Albies	607	72/ 2.4 oz	72	\$0.87	2,083	\$62.95	\$131,145.83	Please order in qty of 60, 720 cases min between stock #1867 & 1869. This will fit to your pallet height restrictions.	21 days		
1867	SERVINGS	Sandwich, Soy/Nutless Butter and Grape Jelly - Frozen, individually wrapped. I serving to meet a minimum of 1 co of grain and 1 co meadlment allemance equivalents per Colin Multition Programs Slandards. Approximate Pack 72-2.8 cz /csss. Ship Lot: 400 Cases	Albie's 607 SunWise Foods 12228	150,000	SunWise Foods	Net 30 days	SunWise	12228 - Grape 12258 - Strawberry	96ct2.8oz. IW	96	\$0.72	1,563	\$69.12	\$108,000.00				AWARD GRAPE ONLY STRAWBEERY NEVER SENT/ RECEIVED
1869	SERVINGS	Sandwich, Soy/Nutless Butter and Strawberry Jelly - Frozen, individually wrapped. 1 serving to meet a minimum of 1 oz of grain and 1 oz meatimest alternate equivalents for Child Nutrition Programs Standards. Please provide CN label or product formulation sheet for crediting. Approximate Pacic 72-2.8 oz./case. Ship Lot: 400 Cases	No Approved Brands	150,000	National Food Group	Net 30	Albies	609	72/ 2.4oz	72	\$0.87	2,083	\$62.95	\$131,145.83	Please order in qty of 60, 720 cases min between stock #1867 & 1869. This will fit to your pallet height restrictions.	21 days		SAMPLE SENT SAMPLE FAILED
1869	SERVINGS	Sandwich, Soyhlutless Butter and Strawberry Jelly: Frozon: Individually imposed 1 sering in ones at minimum of 1 or of prain and 1 oz meatiment alternate equivalents per Child Nutrition Programs Standards. Please provide CN label or product formulation sheet for crediting. Approximate Pack 72-2.8 oz./case. Ship Lot: 400 Cases	No Approved Brands	150,000	Albie's Food Products, LLC	240 cases/ 3 pallets minimum one SKU per pallet	Albie's EZ Jammer	608	72/2.4oz	72	\$0.74	2,083	\$53.28	\$111,000.00		1.5-2		SAMPLE SENT SAMPLE FAILED
2300	SERVINGS	Cookie, Sugar, IW. Whole grain sugar cookie, individually wrapped. These and serve. Must provide CN or crediting statement and smart sneck. Statisticians of Practice approximately 120 per case. Please indicate if packed differently. Ship Lot: 400 Cases	Conesoga/CH Guenther 225068 Buena Vista 79815 ES Foods 8405	150,000	Buena Vista Foods		Buena Vista Fods	79815	120/1.5 oz	120	\$0.315	1,250	\$37.80	\$47,250.00	6 pallet min delivery (mixed cases okay)	4 week lead time		
2300	SERVINGS	Thaw and serve. Must provide CN or crediting statement and smart snack	ConesogaCH Guenther 225068 Buena Vista 79815 EB Foods 8406	150,000	ES Foods	Net 30	ES Foods/Classic	8405	120/1.5 oz	120	\$0.23	1,250	\$27.60	\$34,500.00	ES Foods #8405 - Sugar Cookle, WG, IW, 1201.5 oz per case. Thaw & Serve. Smart Snack Compliance. Each 1.5 oz meet 1 Grain. Order Min: A pallets (392 cases). Orders of cookle #8405 and 4807 can be combined to make up minimum. All cookles ship separately	3 weeks after receipt of orders. Lead-time does not include transit time which can take from 3-5 days. LTL orders ship on Friday		AWARD
2300	SERVINGS	Cookie, Sugar, Mr Whole grain sugar cookie, individually warpped. They and serve, Mult provide Oth or cordising statement and smart snack guidelines. Packed approximately 120 per case. Please indicate if packed differently. Ship Lot: 400 Cases	Conesoga/CH Guenther 225068 Buena Vista 79815 ES Foods 8405	150,000	CHURCHFIELD TRADING	NET 30	CH GUENTHER	225068	120/1.3oz	120	\$0.29	1,250	\$35.75	\$44,687.50		14-21 days		
2300	SERVINGS	Cookie, Sugar, IW Whole grain sugar cookie, individually weapped. Thew and serve. Whull provide Oth or conditing statement and smart snack guidelines. Packed approximately 120 per case. Please indicate if packed differently. Ship Lot: 400 Cases	Conesoga/CH Guenther 225068 Buena Vista 79815 ES Foods 8405	150,000	Sysco Memphis LLC	NET30	Conesoga/CH Guenther	225068 - Sysco 3163740	120/1.3oz	120	\$0.3298	1,250	\$39.57	\$49,462.50		3-weeks		
2301	SERVINGS	wrapped cookie. Thaw and serve. Must provide CN or crediting statement and smart snack guidelines. Packed approximately 120 per case. Please	Conesoga/CH Guenther 225065 Rich's 3593 Buena Vista 79215 ES Foods 8407	150,000	Sysco Memphis LLC	NET30	Conesoga/CH Guenther	225065 - Sysco 1595129 - New item	120/1.3oz	120	\$0.4161	1,250	\$49.93	\$62,412.50		5-weeks		

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings Per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	Menu Planning Comments	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL HOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	Column 6 ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19
2301	SERVINGS	Cookle, Fudge, Mr-Whole grain chocolate fudge cookle, individually wrapped cookle. Thaw and serve. Must provide CN or crediting statement and smart snack guidelines. Packed approximately 120 per case. Please indicate if packed differently. Ship Lot: 400 Cases	Conesoga/CH Guenther 225065 Rich's 3593 Buena Vista 79215 ES Foods 8407	150,000	CHURCHFIELD TRADING	NET 30	CH GUENTHER	225065	120/1.3oz	120	\$0.37	1,250	\$45.34	\$56,675.00		14-21 days		
2301	SERVINGS	Cookle, Fudge, Mv. Whole grain chocolate fudge cookle, individually wrapped cookle. Thaw and serve. Must provide CN or crediting statement and smart snack guidelines. Packed approximately 120 per case. Please indicate if packed differently. Ship Lot: 400 Cases	Conesoga/CH Guenther 225065 Rich's 3593 Buena Vista 79215 ES Foods 8407	150,000	Buena Vista Foods		Buena Vista Fods	79215	120/1.5 oz	120	\$0.315	1,250	\$37.80	\$47,250.00	6 pallet min delivery (mixed cases okay)	4 week lead time		
2301	SERVINGS	Cookle, Fudge, Mv. Whole grain chocolate fudge cookle, individually warpped cookle. Thaw and serve. Must provide CN or cedting statement and smart snack guidelines. Packed approximately 120 per case. Please indicate if packed differently. Ship Lot: 400 Cases	Conesoga/CH Guenther 225065 Rich's 3893 Buena Vista 79215 ES Foods 8407	150,000	ES Foods	Net 30	ES Foods/Classic	8407	120/1.5 oz	120	\$0.23	1,250	\$27.60	\$34,500.00	ES Foods #8407 - Double Chocolate Brownie (Hershe Chips) Cookie, WG, W, 1201.5 op per case. Thaw V 1201.5 op per case. Thaw V 1201.5 op per case. Thaw V meet 1 Grain. Order Misc. omet 1 Grain. Order Misc. pallets (392 cases). Orders cookie #8405 and \$407 case be combined to make up minimum. All cookies ship separately	of from 3-5 days. LTL orders ship on Friday		AWARD
2301	SERVINGS	Cookle, Fudge, Mv. Whole grain chocolate fudge cookle, individually wrapped cookle. Thaw and serve. Must provide CN or crediting statement and smart snack guidelines. Packed approximately 120 per case. Please indicate if packed differently. Ship Lot: 400 Cases	Conesoga/CH Guenther 225065 Rich's 3593 Buena Vista 79215 ES Foods 8407	150,000	Rich's	2%10/Net 11	Rìch's	3593	120/1.7 oz	120	0.475	1,250	\$57.00	\$71,250.00		2		
2311	SERVINGS	Green Chicken Enchiladas, Bulk - whole grain corn tortills containing white chicken meat, tomatillo, cheese with a green verde sauce. Packed approximately 35 servings per case. Ship Lot: 400 Cases	Fresh Start GCECO2	210,000	NO BID	NO BID	NO BID	NO BID	NO BID	0	\$0.00	#DIV/0!	\$0.00	#DIV/0!	NO BID	NO BID		NO BID
2316	SERVINGS	Noodles, Lo Mein, WG - frozen whole wheat noodle. Each serving to provide 2 az grain equivalent. Mast provide CN label or crediting statement. 65 lb. bags per case. Ship Lot: 300 Cases	Schwan's/Twin Marquis Yakisoba Noodles 66931	200,600	CHEFS CORNER	NET 15 DAYS	CHEFS CORNER	CCF-0010	6/5# BAGS	233	\$0.24	861	\$55.00	\$47,351.93		3 weeks		SAMPLE SENT SAMPLE FAILED
2316	SERVINGS	Noodles, Lo Mein, WG - frozen whole wheat noodle. Each serving to provide 2 cz. grain equivalent. Must provide CN label or crediting statement. 8/5 lb. bags per case. Ship Lot: 300 Cases	Schwarfs/Twin Marquis Yakisoba Noodles 66931 Asian Food Solutions 22001WG	200,600	International Food Solutions, Inc.	Pricing is not valid through Dot Foods, a redistributor. Due to height restrictions stated in the bid documents, minimum delivery is 192 cases. Mixed Pallets are acceptable.	Asian Food Solutions	22001WG	4/5.15lb Bags	160	\$0.2313	1,254	\$37.00	\$46,388.75	Pricing is not valid through Dot Foods, a redistributor. Due to height restrictions stated in the bid document minimum delivery is 132 cases. Mixed Pallets are acceptable.	, 3-4 Business Weeks		AWARD
2316	SERVINGS	Noodles, Lo Mein, WG - frozen whole wheat noodle. Each serving to provide 2 cz. grine equivalent. Must provide CN label or crediting statement. 6/5 lb. bags per case. Ship Lot: 300 Cases	Schwan's/Twin Marquis Yakisoba Noodles 66931 Asian Food Solutions 22001WG	200,600	Schwan's Food Service, Inc.	Net 30 days	Twin Marquis	66931	148 svgs @ 3.25 oz 2G per svg	148	\$0.30	1,355	\$44.04	\$59,698.56		2 weeks - please see attached Sailing Schedule		
2317	SERVINGS	Brownie and Cookie Dessert -combination of brownie and cookie and is smart snack certified. Must provide CN or crediting statement and smart snack guidelines. Packed approximately 100 per case if packed differently, please indicate. Ship Lot: 300 Cases	Buena Vista Foods 84440	120,000	Buena Vista Foods		Buena Vista Foods	84440	96/1.5 oz	96	\$0.500	1,250	\$48.00	\$60,000.00	6 pallet min delivery (mixed cases okay)	4 week lead time		AWARD

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings Per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	Menu Planning Comments	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19
		Bid Submissions That Deviate From What is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.													
2317	SERVINGS	Brownie and Cookie Dessert-combination of brownie and cookie and is smart snack certified. Must provide Con crediting statement and smart snack guidelines. Packed approximately 100 per case if packed differently, plasse indicate. Ship Lot: 300 Cases	Buena Vista Foods 84440	120,000	Sysco Memphis LLC	NET30	Buena Vista	84440 - Sysco 7111926 - New item	96/1.5oz	96	\$0.5847	1,250	\$56.13	\$70,162.50		5-weeks		
2318	SERVINGS	Brownie, WG, IW - chocolate brownie that is smart snack certified. Must provide CN or crediting statement and smart snack guidelines. Packed approximately 100 per case if packed differently, please indicate. Ship Lot: 300 Cases	Buena Vista Foods 82220 Cookle Tree 224989	120,000	Buena Vista Foods		Buena Vista Foods	82220	96/2.0 oz	96	\$0.500	1,250	\$48.00	\$60,000.00	6 pallet min delivery (mixed cases okay)	4 week lead time		AWARD
2318	SERVINGS	Brownie, WG, IW - chocolate brownie that is smart snack certified. Must provide CN or crediting statement and smart snack guidelines. Packed approximately 100 per case if packed differently, please indicate. Ship Lot: 300 Cases	Buena Vista Foods 82220 Cookle Tree 224989	120,000	CHURCHFIELD TRADING	NET 30	COOKIE TREE	224989	96/1.75oz	96	\$0.51	1,250	\$49.55	\$61,937.50		14-21 days		
2318	SERVINGS	Brownie, WG, IW - chocolate browne that is smart snack certified. Must provide CN or crediting statement and smart snack guidelines. Packed approximately 100 per case if packed differently, please indicate. Ship Lot: 300 Cases	Buena Vista Foods 82220 Cookie Tree 224989	120,000	Sysco Memphis LLC	NET30	Buena Vista	82220 - Sysco 7002671 - New item	96/2oz	96	\$0.5732	1,250	\$55.03	\$68,787.50		5-weeks		
2321	SERVINGS		Delicious Essentials/Otis Spunkmeyer 55680 Buena Vista 78015	100,000	Buena Vista Foods		Buena Vista Foods	78015	216/1.5 oz	216	\$0.305	463	\$65.84	\$30,481.48	6 pallet min delivery (mixed cases okay)	4 week lead time		
2321	SERVINGS	cookie dough to meet 1oz grain equivalent for the child nutrition program.	Delicious Essentials/Otis Spunkmeyer 55690 Buena Vista 78015	100,000	CHURCHFIELD TRADING	NET 30	COOKIE TREE	225225	180/2oz	180	\$0.29	556	\$53.34	\$29,633.33		14-21 days		SAMPLE SENT SAMPLE PASSED ADD AS APPROVED BRAND
2321	SERVINGS		Delicious Essentials/Otis Spunkmeyer 55830 Buena Vista 78015	100,000	Sysco Memphis LLC	NET30	Otis Spunkmeyer	55680 - Sysco 7728403	240/1.5oz	240	\$0.2127	417	\$51.04	\$21,266.67		2-weeks		AWARD
2322	SERVINGS	Unfrosted, Frozen Sheet Cake - Fully baked, 1/2 sheet while layer cake with a light, most texture and sweet flavor. Frozen and packed 5 per case. If packed differently, leases indicate. Ship Lot: 300 Cases	Rich's 6712	300,000	Rich's	2%10/Net 11	Rich's	6712	5	90	0.632	3,333	\$56.92	\$189,733.33		2		AWARD
2340	SERVINGS	Taco, Breakfast - WG flour tortilla stuffed with cheese, chicken, and diced potatose. Each taco to provide 1 oz. mina and 1 oz. grain equivalent for the Child Nutrition program. Must provide CN or crediting statement. Approximately packed 96 per case. If packed differently, please indicate. Ship Lot: 300 Cases	Don Lee SCUBKFT	201,600	GOODMAN FOOD PRODUCTS dba DON LEE FARMS	NET 30 DAYS	DON LEE FARMS	SCUBKFT	94 / 2.57 oz. (15.10 lbs.)	94	\$0.81	2,145	\$76.10	\$163,210.21	5,000 lbs. COMBINED MINIMUM FOR DELIVERY.	2 - 3 WEEKS (10-14 BUSINESS DAYS)		AWARD
2341	SERVINGS	Soup, Chicken Tortilla - Flavorful Southwestern loaded soup with Chicken, bears, tomatoes, com, mexican seasonings, and tortilla strips. Approximally packed 4/4 pound bags per case. If packed differently, please indicate. Ship Lot: 300 Cases	Soup Sensations/Norpac 117105	100,000	NO BID	NO BID	NO BID	NO BID	NO BID	0	\$0.00	#DIV/0!	\$0.00	#DIV/0!	NO BID	NO BID		NO BID
2342	SERVINGS	Green Chicken Enchliadas, Individually - whole grain corn tortilla containing white chicken meat, tomatillo, cheese with a green verde sauce. Ship Lot: 400 Cases	Fresh Start GCECO1	75,000	NO BID	NO BID	NO BID	NO BID	NO BID	0	\$0.00	#DIV/0!	\$0.00	#DIV/0!	NO BID	NO BID		NO BID

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings Per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	Menu Planning Comments	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.		Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19
2349	SERVINGS	Cookie, Berries & Cream - A berry flavored cookie filled with a sweet cream filling, advidually wapped knuts be compliant with Smart Snack Guidelines. Must meet 1 oz. grain equivalent. Approximate Pack: 120 per case Ship Lot: 100 Cases	Rich's 23365	120,000	Rich's	2%10/Net 11	Rich's	23365	120/1.7 oz	120	0.475	1,000	\$57.00	\$57,000.00		2		AWARD
2350	SERVINGS	Smoothle, Mango-Pineapple, Frozen- Mango-Pineapple flavored yogurt based smoothle. Meets I meat/meet alternate and 1/2 cup fruit for child notifition program. Packed in a carton or bottle. Serving size approximately 7-8 cz. Approximate Pack: 50 per case Ship Lot: 200 Cases	Bar Fresh TGMPYS0	25,000	Sysco Memphis LLC	NET30	Bar Fresh	TGMPY50 - 7232882 New item	50/7.6oz	50	\$0.9112	500	\$45.56	\$22,777.75		5-weeks		AWARD
2351	SERVINGS	Smoothle, Strawberry Banana, Frozen-Strawberry-Banana flavored yogut based smoothle. Meels 1 meathmeat alternate and 1/2 cup fluit for child nutrition popular. Packed in a cartin or bottle. Serving size approximately 7-6 oz Approximate Pack: 50 per case Ship Lot: 200 Cases	Bar Fresh TGSBYS0	25,000	Sysco Memphis LLC	NET30	Bar Fresh	TGSBY50 - Sysco 7232959 - New Item	50/7.6oz	50	\$0.9112	500	\$45.56	\$22,777.75		5-weeks		AWARD
2360	SERVINGS	Yeast Rolls WG, Frozen - Fully baked yeast rolls sliced bulk packed. Two rolls must meet at 1 oz. grain equivalent, per child nutrition program. Approximate Pack: 84 per case Ship Lot: 200 Cases	Proview 24300	75,000		Net 20	Proview Foods	24300	144/.80 oz	144	\$0.18	521	\$25.92	\$13,500.00	MINIMUM DELIVERY: 6-pallets. Tasty Brands order is shipping same week, orders may be combined for a 6-pallet minimum ship	fa 3 2 wks		AWARD
2360	SERVINGS	Yeast Rolls WG, Frozen - Fully baked yeast rolls sliced bulk packed. Two rolls must meet at 1 oz. grain equivalent, per child nutrition program. Approximate Pack: 84 per case Ship Lot: 200 Cases	Proview 24300	75,000	Sysco Memphis LLC	NET30	Proview	24300 - Sysco 7322653 - New item	6/24CT	144	\$0.2000	521	\$28.80	\$15,000.00		5-weeks		
2374	SERVINGS	lasal Kz. Turkey and Cheses on Clabatta - Three and Seros Med 30 CT WAY Turkey and Cheses Chabtta Kit. Each med lat Grovides a minimum of 200 cz. m/ma. 2 cz. equivelent grains, ½ cup vegletable (additional) and ½ cup fruit. Packed in a revoluble clear cell bos qwith MSCS (3 cp. Each kit also contains a prepackaged spoon, napkin & straw. Must be free of Artificial Colon: Trans Fats and High Fructoes Com Systy. Must be Blay American Compliant. Memphis-Shelty County Branded Logo required on kits. Please see MSCS website to assess the Communication webpage for specific on logo colors and size. Ship Lot: 500 Cases	ES Foods 61925	100,000	ES Foods	Net 30	ES Foods	61925	30 ct/case	30	\$2.8640	3,333	\$85.92	\$286,400.00	ES Foods 61925 (WG Turks & Cheese on Clabatta Mee Each serving I/ Meal) mee 2 cup fruit and 1/2 cup additional veg. Thaw & Serve, 30/case. Order Min. Order Min of Thaw & Serv Meal Breaks (6192& & 6195 can be combined to make i minimum	d. s 3 weeks after recipt of orders. Lead-time does not include transit time which can take ed. from 3-5 days. LTL orders ship on 6) Friday		AWARD
2376		Issa KL, Oven Cooked Chicken & Cheese Crotesant - Thow rur? Grow Med 30 CT WG Chicken and Cheese Crotesant Each med lat provides a minimum of 2.00 cz. m/ma. 2 cz. equivalent grains, ½ cap vegetable (additional) and ½ cup frut. Packed in a recyclable clear cello bag with MSCS logo. Each kit also contains a prepackaged spoon, napkin & straw. Max to fer sof Artfalical Colon, Trans Esta and High Fucuses Com Syrup. Must be Boy American Compliant. Memphia-Shelby Courts Syrup. Must be Boy American Compliant. Memphia-Shelby Courts Syrup. Must be Boy American Compliant. Memphia-Shelby Courts Communication webpage for specific on logo colors and size. Packed 30 CT WG Chicken and Cheese Croissant. If packed differently, please indicate. Ship Lot: 500 Cases	ES Foods 61956	100,000	ES Foods	Net 30	ES Foods	61956	30 ct/case	30	\$2.8640	3,333	\$85.92	\$286,400.00	ES Foods 61956 (WG Over Cooked Chicken & Chees Croissant Meal. Each servi (1 Meal) meets 2.25 cc Gra 2 cz M/MA, 1/2 cup fruit and 12 cup additional veg. Thi & Serve, 30csses, Order Min of Thaw & Serve Meal Break (61925 & 61956) can be combined to make up minimum	3 weeks after recipt of orders. Lead- time does not include transit time which can take from 3-5 days. LTL		AWARD

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings Per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	Menu Planning Comments	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	Column 6 ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19
2383	SERVINGS	Burfalo Style Chicken Breast & Cheddar on Brioche Bun, IW. Whole grain, Individually wapped premium Burfalo Style Chicken Breast paired with cheddar cheese on a fresh brioche bun. Wrapped nan oven safe film. Product to meet 2 or. grain equivalents and 2 or. meat/meet alternate for the Child Nutrition Program. CN label or product formulation sheet (PES) required. Approximate pack, 72/case. If packed differently, please indicate. Ship Lot: 300 Cases	Tasty Brands 74078	125,000		1%10, net 20	Tasty Brands	74078	72/4.40 oz	72	\$1.20	1,736	\$86.19	\$149,635.00	MINIMUM DELIVERY: 5,000 pounds. If a Proview Foods order is shipping same week, orders may be combined to for a 6-pallet minimum ship.	2 wks		AWARD
3101	SERVINGS	Croissant, Egg and Fiesta Cheese Sandwich, IW - Whole Grain individually wrapped chicken sausage, egg and cheese sandwich, lead to the common sausage, egg and cheese sandwich was prealthread internal for the Chick Municin Program. ON table or product formulation sheet (PFS) required. Approximate pack, 100/case. If packed differently, please indicate. Ship Lot: 200 Cases	No Approved Brands	300,000	NO BID	NO BID	NO BID	NO BID	NO BID	0	\$0.00	#DIV/0!	\$0.00	#DIV/0!	NO BID	NO BID		NO BID
3103	SERVINGS	English Mufflin, Chicken Sausage Egg, and Cheese Sandwich, IW-Whole Grain Individually wrapped chicken sausage, egg and cheese with the control of the contr	No Approved Brands	200,000	Bake Crafters	Net 14	Bake Crafters	6667	4.45 oz	96	\$1.27	2,083	\$122.24	\$254,660.00		3 weeks		SAMPLE SENT FAILED
3105	SERVINGS	English Mufflin, Turkey Canadian Bacon, and Cheese, IW - Whole Grain individually wrapped utney canadian style bacon and cheese equivalents and 1 to zero material style to the style of the squidelents and 1 to zero meatimes alter than Chall Murition Program. CN label or product formulation sheet (PFS) required. Approximate pack, 108/case. If packed differently, please indicate. Ship Lot: 200 Cases	No Approved Brands	300,000	Cool Tropics		Welch's by Cool Tropics	14505	4 ounce	60	\$0.39	5,000	\$23.35	\$116,750.00	28 pallets (2,240 cases) @ \$22.75 per case. 14 pallets minimum (1,120 cases) @ \$23.35. See price list enclosed for more details.	3 weeks (excluding weekday holidays)		VENDOR BIDDED ON PRODUCT IN ERROR
3105	SERVINGS	English Muffin, Turkey Canadian Bacon, and Cheese, IW - Whole Grain individually wapped turkey canadian style bacon and cheese sandwich. Wrapped in an oven safe film. Product to meet 2 cz. grain equivalents and 1 cz. meatimeat laternate for the Child Nutrition Program. CN label or product formulation sheet (PFS) required. Approximate pack, 100kacse. if packed differently, please indicate. Ship Lot: 200 Cases	No Approved Brands	300,000		1%10, net 20	Tasty Brands	73403	108/3.70 oz	108	\$0.85	2,778	\$91.37	\$253,803.00	MINIMUM DELIVERY: 5,000 pounds. If a Proview Foods order is shipping same week orders may be combined to for a 6-pallet minimum ship.	2 wks		AWARD SAMPLE SENT SAMPLE PASSED ADD AS AN APPROVED BRAND
3009	SERVINGS	Chicken Turkey Han & 2 Cheese on Wedge Sandwich, Whole Grain, We Whole grain, individually wrapped Chicken. Turkey Ham, American Cheese & Mozzarella Cheese sandwich, Wrapped in an own safe film. Product to meet 2.c. grain equivalents and 2.c. meetinest alternate for the Child Nutrition Program. CN label or product formulation sheet (PFS) required. Approximate pack, 72/case. If packed differently, please indicate. Ship Lot: 150 Cases	Tasty Brands 70013	125,000	Cool Tropics		Welch's by Cool Tropics	14506	4 ounce	60	\$0.39	2,083	\$23.35	\$48,645.83	28 pallets (2,240 cases) @ \$22.75 per case. 14 pallets milnimum (1,120 cases) @ \$23.35. See price list enclosed for more details.	3 weeks (excluding weekday holidays)		VENDOR BIDDED ON PRODUCT IN ERROR
3009	SERVINGS	Chicken Turkey Ham 8.2 Cheese on Wedge Sandwich, Whole Grain, We Whole grain, individually wrapped Chicken, Turkey Ham, American Cheese 8. Mozzarella Cheese sandwich. Wrapped in an oven safe film. Product to meet 2 or grain equivalents and 2 oz. meetinest attendate for the Child Nutrition Program. CN label or product formulation sheet (PFS) required. Approximate pack, 72/case. If packed differently, please indicate. Ship Lot: 150 Cases	Tasty Brands 70013	125,000		1%10, net 20	Tasty Brands	70013	72/4.45 oz	72	\$1.10	1,736	\$79.52	\$138,050.00	MINIMUM DELIVERY: 5,000 pounds. If a Proview Foods order is shipping same week, orders may be combined to for a 6-pallet minimum ship.	2 wks		AWARD
3021	SERVINGS	Ham, Buffet Pre-Sliced - Fully cooked boneless, pre-sliced, buffet style ham. Each serving slice must credit as 1 oz. meat/meat alternate for the Child Nutrition Program. Ship Lot: 300 Cases	No Approved Brands	250,000	Cool Tropics		Cool Tropics	16002	4 ounce	60	\$0.38	4,167	\$22.55	\$93,958.33	28 pailets (2,240 cases) @ \$21.95 per case. 14 pailets minimum (1,120 cases) @ \$22.55. See price list enclosed for more details.	3 weeks (excluding weekday holidays)		VENDOR BIDDED ON PRODUCT IN ERROR

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Cases (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings per Case	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	(IN WEEKS)	enu Planning Comments	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1209	CASE	and appetizing color with a sweet & savory taste.	JTM 73460 Chef Comer's Food OFC2177 Asian Food Solutions 93006	2,500	CHEFS CORNER	2 PALLET MINIMUM SHIP NET 15 DAYS	CHEFS CORNER	OFC-2177	15/2# BAGS	425	6	\$0.14	\$150,000.00		3 weeks		
1209	CASE	or high fructose corn syrup. Wheat Free. Bright	JTM 73460 Chef Corner's Food OFC2177 Asian Food Solutions 93006	2,500	МТС	Net 30	JTM	73460	6 bags 30.00# case	480	5	\$52.79	\$263.95	Direct orders: 4200 Lbs. Distributor orders 4200 Lbs. Can be mixed product & must order in layers.	3 weeks (21 days)		AWARD COST PER SERVING IS \$0.11
2007	CASE	avocado, with chucks of ripe tomato, crisp white onion, and cilantro. Approximate pack size 12/1 LB easy squeeze plastic pouches. If packed differently, please indicate.	JTM 73460 Chef Corner's Food OFC2117 Asian Food Solutions 93006 J. R. Simplot 932666 J. R. Simplot 5507941 Simplot 32686	2,000	J.R. Simplot Company	2% 10 net 15 days from invoice or 30 days net	Simplot Harvest Fresh	10071179932666'	12/1#	66	30	\$33.83	\$66,670.00		2 Weeks (14 Days)		AWARD REQUIRED NUMBER OF CASES SHOULD BE 2000, NOT 30
2007	CASE	avocado, with chucks of ripe tomato, crisp white onion, and cilantro. Approximate pack size 12/1 LB easy squeeze plastic pouches. I fp acked differently, please indicate.	JTM 73460 Chef Corner's Food OFC2177 Asian Food Solutions 93006 J. R. Simplot 932666 J. R. Simplot 6507941 Simplot 32686	2,000	Sysco Memphis LLC	NET30	Simplot	932666 - Sysco 6507941	12/1#	65.97	30	\$35.74	\$71,480.00		2-weeks		REQUIRED NUMBER OF CASES SHOULD BE 2000, NOT 30
2320	SERVINGS	Whipped Cream - Pre-whipped topping with light, creamy texture. Packaged in 16 oz. pastry bag with easy open seal. Please indicate if packed differently. Ship Lot: 200 Cases	Rich's 2559	300	Rich's	2%10/Net 11	Rich's	2559	16 oz.	672	0	\$42.24	\$12,672.00		2		AWARD REQUIRED NUMBER OF CASES SHOULD BE 300 INSTEAD OF 672

Series Brown Series Ser	Stroke Number Number Number Number Number Number Description Descript	AWARDS
Les Bridge Control Con	Bid Submissions That Deviate From What is Being Requested in The Specifications Below Will be Considered A Non Acceptable Vendor REFLECT ACREATIONS ARE PROCEED AND EVALUATED. Cereal, Fruit Shaped, WG - Whole grain cereal in a seeled bowl pack are consisted and approved through MSCSS sample Submission Process. Cereal, Fruit Shaped, WG - Whole grain cereal in a seeled bowl pack are of inferent. Cereal, Fruit Shaped, WG - Whole grain cereal in a seeled bowl pack are of inferent. SERVINGS Ship Let: 400 Cases Cereal, Fruit Shaped, WG - Whole grain cereal in a seeled bowl pack are of inferent. Cereal, Fruit Shaped, WG - Whole grain cereal in a seeled bowl pack are of inferent. Cereal, Fruit Shaped, WG - Whole grain cereal in a seeled bowl pack are of inferent. Cereal, Fruit Shaped, WG - Whole grain cereal in a seeled bowl pack are of inferent. Cereal, Fruit Shaped, WG - Whole grain cereal in a seeled bowl pack are of inferent. Cereal, Fruit Shaped, WG - Whole grain cereal in a seeled bowl pack are of inferent. Cereal, Fruit Shaped, WG - Whole grain cereal in a seeled bowl pack are of inferent. Cereal, Fruit Shaped, WG - Whole grain cereal in a seeled bowl pack are of inferent. Cereal, Fruit Shaped, WG - Whole grain cereal in a seeled bowl pack are of inferent. Cereal, Fruit Shaped, WG - Whole grain cereal in a seeled bowl pack are of inferent. Cereal, Fruit Shaped, WG - Whole grain cereal in a seeled bowl pack are of inferent. Cereal, Fruit Shaped, WG - Whole grain cereal in a seeled bowl pack are of inferent. Cereal, Fruit Shaped, WG - Whole grain cereal in a seeled bowl pack are of inferent. Cereal, Fruit Shaped, WG - Whole grain cereal in a seeled bowl pack are of inferent. Cereal, Fruit Shaped, WG - Whole grain cereal in a seeled bowl pack are of inferent. Cereal, Fruit Shaped, WG - Whole grain cereal in a seeled bowl pack are of inferent. Cereal, Fruit Shaped, WG - Whole grain cereal in a seeled bowl pack are of inferent. Cereal, Fruit Shaped, WG - Whole grain cereal in a seeled bowl pack	
Market Control Control Prince Pri	container. Container must be easy open. No more than 12 grams of sugar per 2 cz. serving. Must med 2 cz. grain equivalents for the Child Nutrition Program. Approximate Pack Size: 60/case. Please specify pack size if different. 1046 SERVINGS Ship Lot: 400 Cases Cereal, Fruit Shaped, WG - Whole grain cereal in a sealed bowl pack container. Container must be easy open. No more than 12 grams of sugar per 2 cz. serving. Must med 2 cz. grain equivalents for the Child Nutrition Program. Approximate Pack Size: 60/case. Please specify pack size if different. Cereal, Fruit Shaped, WG - Whole grain cereal in a sealed bowl pack container. Container must be easy open. No more than 12 grams of sugar per 2 cz. serving. Must med 2 cz. grain equivalents for the Child Nutrition Program. Approximate Pack Size: 60/case. Please specify pack size if different. General Mills Size General Mills 10016000195670 General Mills 10016000195670 General Mills 10016000195670 General Mills 10016000195670 General Mills 10016000195670 General Mills 10016000195670 General Mills 10016000195670 General Mills 10016000195670 General Mills 10016000195670 General Mills 10016000195670 General Mills 10016000195670 General Mills 10016000195670 General Mills 10016000195670 General Mills 10016000195670 General Mills 10016000195670	
Security Contract Contract Security states for the Security (Contract Contract Contract Contract Security (Contract Contract Security (Contract Contract Contract Contract Security (Contract Contract Contract Contract Security (Contract Contract C	container. Container must be easy open. No more than 12 grams of sugar per 2 oz. serving. Must meet 2 oz. grain equivalents for the Child Nutrition Program. Approximate Pack Size: 60/case. Please specify pack size if	AWARD
Index SERVINGS S	406 CEDINICO CONTRACTO CONTRACTO 19567000 - Sysco CONTRACTO 1956700	
pack container. Confairme many be sear year, but med 2 or guith a pack 2 or guith pack of the Color of	pack container. Container must be easy open. No more than 12 grams of sugar per 2 oz. serving. Must meet 2 oz. grain equivalents for the Child Nutrition Program. Approximate Pack Size: 60/case. Please specify pack size if different. 200,000 CHURCHFIELD NET 30 GENERAL MILLS General Mills 16000148957 60/2oz 60 \$0.61 3333 \$36.74 \$122,466.67 min 495 14 days	AWARD
with whole grain wheat flour. No character shapes. Individual packet servings. Must meet the Cruit Princip region and must meet smart smack guidelines. Please provide crediting. Approximate Pack: 120/case. If packed differently, please indicate. 150,000 Sysco Memphis LLC NET30 Mondelez 2769 - Sysco 7252/185 Ship Lot: 300 Cases 1000 Cases If packed differently, please indicate. 150,000 Sysco Memphis LLC NET30 Mondelez 2769 - Sysco 7252/185 Ship Lot: 300 Cases 1000 Cases If packed differently, please indicate. 150,000 Sysco Memphis LLC NET30 Mondelez 2769 - Sysco 7252/185 Ship Lot: 300 Cases 1000 Cases If packed differently, please indicate. 150,000 Sysco Memphis LLC NET30 Mondelez 2769 - Sysco 7252/185 Ship Lot: 300 Cases 1000 Cases Chip Cookies - IV, Mini Chocolate Chip Cookies to meet 1 cz. grain glace packaged mini Chocola	pack container. Container must be easy open. No more than 12 grams of sugar per 2 oz. serving. Must mete 2 oz. graine quivalents for the Child Nutrition Program. Approximate Pack Size: 60/case. Please specify pack size if different. 200,000 Sysco Memphis LLC NET30 General Mills 1600014885 - Sysco 7072182 60/2oz 60 \$0.6217 3333 \$37.30 \$124,333.33	
Single packaged mini Chocolate Chip Cookies to meet 1 oz. grain equivalent for the Child Nutrition Program. Must provide CN or crediting statement and Smart Snack guidelines. Packed 100 per case. If packed differently, please indicate. Single packaged mini Chocolate Chip Cookies to meet 1 oz. grain equivalent for the Child Nutrition Program. Must provide CN or crediting statement and Smart Snack guidelines. Packed 100 per case. If packed differently, please indicate. Single packaged mini Chocolate Chip Cookies to meet 1 oz. grain equivalent for the Child Nutrition Program. Must provide CN or crediting statement and Smart Snack guidelines. Packed 100 per combined in any case assortment. Single packaged mini Chocolate Chip Cookies to meet 1 oz. grain equivalent for the Child Nutrition Program. Must provide CN or crediting statement and Smart Snack guidelines. Packed 100 per combined in any case assortment. Single packaged mini Chocolate Chip Cookies to meet 1 oz. grain equivalent for the Child Nutrition Program. Must provide CN or crediting statement and Smart Snack guidelines. Packed 1000 case total Frito Lay order. Items may be combined in any case assortment.	with whole grain wheat flour. No character shapes. Individual packet servings. Must meet 1 oz. grain eq. for the Child Nutrition program and must meet smart snack guidelines. Please provide crediting. Approximate Pack: 120/case. If packed differently, please indicate. 1052 SERVINGS Approximate Pack: 120/case. If packed differently, please indicate. 150,000 Sysco Memphis LLC NET30 Mondelez 2769 - Sysco 7262185 120/10z 120 \$0.3043 1250 \$36.52 \$45,650.00 3-weeks	AWARD
	Single packaged mini Chocolate Chip Cookies to meet 1 oz. grain Bakecrafters 527 equivalent for the Child Nutrition Program. Must provide CN or Grandmas 66154	AWARD
	1089 SERVINGS SERVIN	

								-									
Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	FROM ORDER PLAN	NU NING AWARDS IENTS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	Column 6 ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	
1100	SERVINGS	WG Animal Crackers, Berry Flavored- Animal shaped with a sweet and tart tart berry flavor. Must be at least 50% Whole Grain made with whole wheat flour . Individually wrapped. Meets 1 oz. grain eq. for the Child Nutrition Program. Must meet guidelines for the CACFP program. Approximate Pack: 109/9oz. per case. Ship Lot: 200 Cases	Appleways 72400	200,000	CHURCHFIELD TRADING	NET 30	APPLEWAYS 72400	72400	108/.9oz	108	\$0.37	1852	\$40.86	\$75,666.67	MIN 432 CS- CAN COMBINE WITH OTHER DARLINGTON ITEMS TO MAKE 8PLTS	14-21 days	AWARD
1114		Salad Dressing, Italian, Fat-Free or Light, Individual Portion control Pkg, 1oz Trans fat free. Must be shelf stable. Packed 100/case. Ship Lot: 200 Cases	Hidden Valley Ranch 13356 House Blend 70804 Flavor Fresh 77008	100,000	DYMA Brands, A Ventura Foods Company	1% 10/Net 30	Flavor Fresh	77008	1 oz	100	0.1255	1000	\$12.55	\$12,550.00	5,000# Minimum shipment. Products may be combined to meet minimum shipment requirements. Pallots can be mixed when ordered in layer quantities.	3 Weeks to ensure maximum shelf life upon delivery. Many products manufactured to order whenever possible.	AWARD
1117		Salad Dressing, Blue Cheese Light, Individual Approximately I Pkg, 1.5 oz. portion contro - Trans fat free. Must be shelf stable. Packed 100/case. Ship Lot: 200 Cases	Marzetti 87206 Winland Foods 85745905061 FlavorFrosh 77024 CF Sauer 8401 Dukes 08401	100,000	CHURCHFIELD TRADING	nET 30	DUKES	8401	120	120	\$0.35	833	\$42.40	\$35,333.33	3K LB MIN ORDER CAN COMBINE CF SAUER PRODUCTS	14-21 DAYS	
1117		Salad Dressing, Blue Cheese Light, Individual Approximately I Pkg, 1.5 oz. portion contro - Trans fat free. Must be shelf stable. Packed 100/case. Ship Lot: 200 Cases	Marzetti 87206 Winland Foods 85745905061 FlavorFresh 77024 CF Sauer 8401 Dukes 08401	100,000	DYMA Brands, A Ventura Foods Company	1% 10/Net 30	Flavor Fresh	77024	1.5 oz	60	0.2841	1667	\$17.05	\$28,410.00	5,000# Minimum shipment. Products may be combined to meet minimum shipment requirements. Pallets can be mixed when ordered in layer quantities.	3 Weeks to ensure maximum shelf life upon delivery. Many products manufactured to order whenever possible.	
1117	SERVINGS	Salad Dressing, Blue Cheese Light, Individual Approximately I Pkg, 1.5 oz. portion contro - Trans fat free. Must be shelf stable. Packed 100/case. Ship Lot: 200 Cases	Marzetti 81922 Winland Foods 85745905061 FlavorFresh 77024 CF Sauer 8401 Dukes 08401	100,000	Marzetti	2/10 Net 30	Marzetti	81922	1.5	96	\$0.29	1042	\$27.94	\$29,104.17		5 Business Days	
1117		Salad Dressing, Blue Cheese Light, Individual Approximately I Pkg, 1.5 oz. portion contro - Trans fat free. Must be shelf stable. Packed 100/case. Ship Lot: 200 Cases	Marzetti 87206 Winland Foods 85745905061 FlavorFresh 77024 CF Sauer 8401 Dukes 08401	100,000	Sysco Memphis LLC	NET30	Winland Foods	857459D5061 - Sysco 4709317 - New item	100/1.5oz	100	\$0.2564	1000	\$25.64	\$25,640.00		5-weeks	AWARD
1142	SERVINGS	Breakfast Cereal Bar, Strawberry Flavored Minimum of 1.25 oz. Cereal bar made from whole grain oats. Whole grain bar that meets 1 oz. grain equivalent serving for the child nutrition program. Approximate pack: 160/1.3oz servings per case. Ship Lot: 200 Cases	Kellanova 59772	200,000	National Food Group	Net 30	Zee Zees	D60475	175 / 1.3 oz	175	\$0.26	1143	\$45.50	\$52,000.00	Please order in pallet quantities of 48 with a min of 192 cases per order. This item can be purchased on same PO as other Zee Zees items.	3 weeks	AWARD

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	MENU PLANNING COMMENTS	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17		
		Bid Submissions That Deviate From What is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.													
		Breakfast Cereal Bar, Strawberry Flavored Minimum of 1.25 oz. Cereal bar made from whole grain cats. Whole grain bar that meets 1 oz. grain equivalent serving for the child nutrition program. Approximate pack: 160/1.3oz servings	Kellanova 59772															
1142	SERVINGS	per case.		200,000	CHURCHFIELD TRADING	NET 30	DARLINGTON	70400	216/1.2oz	216	\$0.29	926	\$62.99	\$58,324.07	MIN 384 CS- CAN COMBINE WITH OTHER DARLINGTON ITEMS TO MAKE 8PLTS	14-21 DAYS		
		Ship Lot: 200 Cases																
1142	SERVINGS	Breakfast Cereal Bar, Strawberry Flavored Minimum of 1.25 oz. Cereal bar made from whole grain oats. Whole grain bar that meets 1 oz. grain equivalent serving for the child nutrition program. Approximate pack: 160/1.3cz servings per case.	Kellanova 59772	200,000	Sysco Memphis LLC	NET30	Kellanova	59772 - Sysco 1400482	96/1.55oz	96	\$0.3342	2083	\$32.09	\$66,851.83		2-weeks		
		Ship Lot: 200 Cases																
		Jelly, Grape- In individual 1/2 oz. easy open packet. Natural grape flavor.	Heinz 543702															
1179	SERVINGS	Approximate pack: 200 units Ship Lot: 500 Cases	Welch's WELC472 Smucken's 764 CF Sauer 06860 Smucken's 4043923 Welch's 70163 CF Sauer 6367 Welch's 70164 Sauer 686	450,000	DYMA Brands, A Ventura Foods Company	1% 10/Net 30	Welch's	70163	0.5 oz	200	0.0603	2250	\$12.05	\$27,112.50	5,000# Minimum shipment. Products may be combined to meet minimum shipment requirements. Pallets can be mixed when ordered in layer quantities.			AWARD
1179	SERVINGS	Jelly, Grape- In individual 1/2 oz. easy open packet. Natural grape flavor. Approximate pack: 200 units Ship Lot: 500 Cases	Heinz 543702 Welch's WELC472 Smucker's 764 CF Sauer 08860 Smucker's 4043923 Welch's 70163 CF Sauer 6367 Welch's 70164 Sauer 686	450,000	CHURCHFIELD TRADING	nET 30	CF SAUER	6367	200	200	\$0.09	2250	\$17.78	\$40,005.00	3K LB MIN ORDER CAN COMBINE CF SAUER PRODUCTS	14 DAYS		
1179	SERVINGS	Jelly, Grape- In individual 1/2 oz. easy open packet. Natural grape flavor. Approximate pack: 200 units Ship Lot: 500 Cases	Heinz 543702 Welch's WELC472 Smucker's 764 CF Sauer 06860 Smucker's 4043923 Welch's 70163 CF Sauer 6367 Welch's 70164 Sauer 686	450,000	Sysco Memphis LLC	NET30	Smuckers	764 - Sysco 4043923	200/0.5oz	200	\$0.0763	2250	\$15.25	\$34,312.50		2-weeks		
1213	SERVINGS	Mayonnaise, Light or Reduced Calorie, Individual Packets - 9 -12 gram package. Approximate Pack: 200 servings/case. Ship Lot: 500 Cases	Duke's 06346 Flavor Fresh 78011 CF Sauer 6346	600,000	DYMA Brands, A Ventura Foods Company	1% 10/Net 30	Flavor Fresh	78011	12 g	200	0.0740	3000	\$14.80	\$44,400.00	5,000# Minimum shipment. Products may be combined to meet minimum shipment requirements. Pallets can be mixed when ordered in layer quantities.			AWARD
1213	SERVINGS	Mayonnalse, Light or Reduced Calorie, Individual Packets - 9 -12 gram package. Approximate Pack: 200 servings/case. Ship Lot: 500 Cases	Duke's 06346 Flavor Fresh 78011 CF Sauer 6346	600,000	CHURCHFIELD TRADING	NET 30	CF SAUER	6346	200	200	\$0.10	3000	\$20.50	\$61,500.00	3K LB MIN ORDER CAN COMBINE CF SAUER PRODUCTS	14 DAYS		
																		

							Dry by the servi	•										
Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	MENU PLANNING COMMENTS	AWARDS
Column 1		Column 3 Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	Column 6 ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17		
1221		Mustard - Individual packets, 1/5 cunce or 5.5 grams, Approximately packed 200 per case. Serving size = 1 packet. Ship Lot: 500 Cases	Portion Pac 000539 (78000357) French's 0805380 Diamond Crystal 76101 Poco Pac 86165 Flavor FreshIPPI 72007 Heitz 5300 McCormicks-French's 7078320 CF Sauer 6318 KraftlyHeitz 530504 Sauer 6501	1,000,000	DYMA Brands, A Ventura Foods Company	1% 10/Net 30	Flavor Fresh	72007	4.5 g	200	0.0278	5000	\$5.55	\$27,750.00	5,000# Minimum shipment. Products may be combined to meet minimum shipment requirements. Pallets can be mixed when ordered in layer quantities.	3 Weeks to ensure maximum shelf life upon delivery. Many products manufactured to order whenever possible.		AWARD
1221	SERVINGS	Mustard - Individual packets, 1/5 ounce or 5.5 grams, Approximately packed 200 per case. Serving size = 1 packet. Ship Lot: 500 Cases	French's 0805380 Diamond Crystal 76101 Poco Pac 86165 Flavor FreshiPPI 72007 Heinz 5380 McCormicks-French's 7078320 CCF Sauer 6518 Kraft/Heinz 530504 Sauer 6501	1,000,000	CHURCHFIELD TRADING	nET 30	CF SAUER	6318	200	200	\$0.05	5000	\$10.62	\$53,100.00	MIN 3K LBS CAN COMBINE CF SAUER	14-21 DAYS		
1221		Mustard - Individual packets, 1/5 ounce or 5.5 grams, Approximately packed 200 per case. Serving size = 1 packet. Ship Lot: 500 Cases	Portion Pac 006330 (78000357) French's 0805380 Diamond Crystal 76101 Poco Pac 86165 Flavor Fresh/PP 172007 Heinz 5380 McCormicks-French's 7078320 CF Sauer 6318 Kraftl/Heinz 530504 Sauer 6501	1,000,000	Sysco Memphis LLC	NET30	Kraft/Heinz	530504 - Sysco 4006649	500/5.6GM	500	\$0.0318	2000	\$15.90	\$31,800.00		2-weeks		
1260	CASE	Potatoes, Instant White - Made with 100% russet potatoes. No whey, produce complete with non-fat milk and butle flavoring, requires only the addition of water and no whipping. Enriched with 50% vitamin C. Approximate Pack: 12-26oz packages per case. Serving Size = 1/2 cup Ship Lot: 400 Cases	Basic American Foods 76468	250,000	CHURCHFIELD TRADING	nET 30	IDAHO PACIFIC	90501	12/28 oz.	600	\$0.10	417	\$63.81	\$26,587.50	90501 IS NEW PC # FOR 910	14-21 DAYS		AWARD
1260	CASE	Potatoes, instant White - Made with 100% russet potatoes. No whey, product complete with non-fat milk and butter flavoring, requires only the addition of water and no whipping. Enriched with 50% witamin C. Approximate Pack: 12-26oz packages per case. Serving Size = 1/2 cup Ship Lot: 400 Cases	Basic American Foods 76468	250,000	ldahoan Foods	2% 10 Days, Net 30	ldahoan Foods	2970025313	12/25.2 oz	480	\$0.11	521	\$54.48	\$28,375.00	10,000 min for a direct ship	2 weeks		
1299		Hot Sauce - Individual portion control 7 gram packet. Made with hot peppers and vinegar. Approximate Pack: 200/case. Ship Lot: 500 Cases	Texas Pete 0003 Louisiana 23837 Monarch 273025 Lousianna 7172734 McCormicks[Franks 418540502 Flavo Fresh 75024	600,000	DYMA Brands, A Ventura Foods Company	1% 10/Net 30	Flavor Fresh	76024	7 g	200	0.0428	3000	\$8.55	\$25,650.00	5,000# Minimum shipment. Products may be combined to meet minimum shipment requirements. Pallets can be mixed when ordered in layer quantities.	3 Weeks to ensure maximum shelf life upon delivery. Many products manufactured to order whenever possible.		AWARD
1299	SERVINGS	Hot Sauce - Individual portion control 7 gram packet. Made with hot peppers and vinegar: Approximate Pack: 200/case. Ship Lot: 500 Cases	Texas Pete 0003 Louisiana 23837 Monarch 273025 Louisianna 7172734 McCormicks/Franks 418540502 Flavo Fresh 76024	600,000	Sysco Memphis LLC	NET30	McCormick/Frank	418540502 - Sysco 1171012	200/7GM	200	\$0.0813	3000	\$16.26	\$48,780.00		2-weeks		

							Dry By the Servir	'6										
Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	MENU PLANNING COMMENTS	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17		
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.													
		Total Course Mild Mode with tourse and single and single Bosses	D-I D															
1303	SERVINGS	Taco Sauce, Mild- Made with tomato sauce, spices, and vinegar. Peppers may be listed as ingredient but not required. 1/3 cunce, 200 packages per case. Ship Lot: 500	y Dol Pasado 273025 Dol Pasado 271876 CF Sauer 06508	300,000	CHURCHFIELD TRADING	NET 30	CF SAUER	6508	200	200	\$0.06	1500	\$11.27	\$16,905.00	3K LB MIN ORDER CAN COMBINE CF SAUER PRODUCTS	14 DAYS		AWARD
1303	SERVINGS	Taco Sauce, Mild- Made with tomato sauce, spices, and vinegar. Peppers may be listed as ingredient but not required. 1/3 ounce, 200 packages per case. Ship Lot: 500	Del Pasado 273025 Del Pasado 271876 CF Sauer 06508	300,000	DYMA Brands, A Ventura Foods Company	1% 10/Net 30	Flavor Fresh	76028	9g	200	0.0453	1500	\$9.05	\$13,575.00	5,000# Minimum shipment. Products may be combined to meet minimum shipment requirements. Pallets can be mixed when ordered in layer quantities.			SAMPLE SENT SAMPLE FAILED
1318	SERVINGS	Granola Ceroal, Whole Grain - 1-1.25oz individual single serve packets. Made with rolled cats. Trans fat free. One package to provide a minimum of 1 oz grain equivalent for the child nutrition program. Approximate Pack: 100/case Ship Lot: 400 Cases	ES Foods (16195) Rockin'Ola Strawberry 8004094 Rockin'Ola Chocolate 8004100 Rockin'Ola Hocolate 8004100 Rockin'Ola 6004209 Bake Crafters 2254 Rockin'Ola 4409068 Bake Crafter's 3125 Bake Crafter's 3127 Fieldstone 09788 Bake Crafter's 2264	300,000	Bake Crafters	Net 14	Bake Crafters	2264	1 oz	320	\$0.34	938	\$108.10	\$101,340.00		3 weeks		
1318	SERVINGS	Granola Cereal, Whole Grain - 1-1.25oz individual single serve packets. Made with rolled cats. Trans fat free. One package to provide a minimum of 1 oz grain equivalent for the child nutrition program. Approximate Pack: 100/case Ship Lot: 400 Cases	ES Foods (16195) Rockin'Dla Strawberry 8004094 Rockin'Dla Chocolate 8004100 Rockin'Dla 8004209 Bake Craffers 2254 Rockin'Dla 4409068 Bake Craffer's 3125 Bake Craffer's 3127 Fieldstone 0978B Bake Craffer's 2264	300,000	Bake Crafters	Net 14	Bake Crafters	3125	1 oz	320	\$0.28	938	\$88.83	\$83,280.00		3 weeks		
1318	SERVINGS	Granola Cereal, Whole Grain - 1-1.25oz individual single serve packets. Made with rolled outs. Trans fat free. One package to provide a minimum of 1 oz grain equivalent for the child nutrition program. Approximate Pack: 100/case Ship Lot: 400 Cases	ES Foods (16195) Rockin/Ola Strawberry 8004094 Rockin/Ola Chocolate 8004100 Rockin/Ola 8004209 Bake Grafters 2264 Rockin/Ola 4409068 Bake Crafter's 3125 Bake Crafter's 3125 Bake Crafter's 2264 Bake Crafter's 2264	300,000	Bake Crafters	Net 14	Bake Crafters	3127	1 oz	320	\$0.27	938	\$87.78	\$82,290.00		3 weeks		AWARD
1387	SERVINGS	Sunflower Kernels, Honey Roasted- 1 oz package, honey roasted kernels to meet 1oz meat/meat alternate for the Child Nutrition Program. Must have less than 230mg sodium per package. Approximate pack size 150 per case. Ship Lot: 200 Cases	Zee Zees B88090 Dakota 1017310 Kars 8130 Sunrich Naturals 1231780 Zee Zee's C88090 Azar 7220210	200,000	National Food Group	Net 30	Zee Zees	C88090	250 /1.2 oz	250	\$0.27	800	\$66.75	\$53,400.00	Please order in pallet quantities of 40 with a min of 200 cases per order. This will cover the pallet height restrictions. This item can be purchased on same PO as other Zee Zees items.	3 weeks		AWARD

							Dry By the Servi											
Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	MENU PLANNING COMMENTS	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	Column 6 ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17		
1387	SERVINGS	Sunflower Kernels, Honey Roasted- 1 oz package, honey roasted kernels to meet 1 oz medimet alternate for the Child Nutrifion Program. Must have less than 230mg sodium per package. Approximate pack size 150 per case. Ship Lot: 200 Cases	Zeo Zees B88090 Dakota 1017310 Kars 8130 Sunrich Naturals 1231780 Zeo Zee's C88090 Azar 7220210	200,000	Sysco Memphis LLC	NET30	Azar	7220210 - Sysco 5647128 - New item	150/1oz	150	\$0.3426	1333	\$51.39	\$68,520.00	No julian date/lot code documentation. Please see use by date on lid.	5-weeks		
1388			Chatsworth 44944 Ken's KEÖ740A1 Kraft-Heinz 672124 Flavor Fresh 77016 CF Sauer 6385	200,000	DYMA Brands, A Ventura Foods Company	1% 10/Net 30	Flavor Fresh	77016	1 oz	100	0.1280	2000	\$12.80	\$25,600.00	5,000# Minimum shipment. Products may be combined to meet minimum shipment requirements. Pallets can be mixed when ordered in layer quantities.	3 Weeks to ensure maximum shelf life upon delivery. Many products manufactured to order whenever possible.		AWARD
1388		Dipping Sauce, Sweet and Sour - Individual 1 oz. portion cup with peel off top. Sauce to contain pineapple concentrate, mustard, Worcestershire sauce base and spices. Approximate pack: 200 units. Ship Lot: 300	Chatsworth 44944 Ken's KE0740A1 Kraft-Heinz 672124 Flavor Fresh 77016 CF Sauer 6385	200,000	CHURCHFIELD TRADING	nET 30	CF SAUER	6385	100	100	\$0.17	2000	\$16.58	\$33,160.00	3K LB MIN ORDER CAN COMBINE CF SAUER PRODUCTS	14 DAYS		
1388	SERVINGS	Dipping Sauce, Sweet and Sour - Individual 1 oz. portion cup with peel off top. Sauce to contain pineapple concentrate, mustard, Worcestershire sauce base and spices. Approximate pack: 200 units. Ship Lot: 300	Chatsworth 44944 Ken's KE0740A1 Kraft-Heinz 672124 Flavor Frosh 77016 CF Sauer 6385	200,000	Sysco Memphis LLC	NET30	Kraft/Heinz	672124 - Sysco 3727757	100/1oz	100	\$0.1721	2000	\$17.21	\$34,420.00		2-weeks		
1390	SERVINGS	Tartar Sauce, individual Pkg - individually packaged tartar sauce. Made with dill relish. Tangy, pickled flavor. Ready to use. 9 g package. Approximate pack size: 200 per case. Ship Lot: 200 Cases	Flavor Fresh 76047 CF Sauer 6509	200,000	CHURCHFIELD TRADING	nET 30	CF SAUER	6509	200	200	\$0.09	1000	\$18.58	\$18,580.00	3K LB MIN ORDER CAN COMBINE CF SAUER PRODUCTS	14 DAYS		
1390	SERVINGS	Tartar Sauce, Individual Pkg - Individually packaged tartar sauce. Made with dill relish. Tangy, pickled flavor. Ready to use. 9 g package. Approximate pack size: 200 per case. Ship Lot: 200 Cases	Flavor Fresh 76047 CF Sauer 6509	200,000	DYMA Brands, A Ventura Foods Company	1% 10/Net 30	Flavor Fresh	76047	9 g	200	0.0603	1000	\$12.05	\$12,050.00	5,000# Minimum shipment. Products may be combined to meet minimum shipment requirements. Pallots can be mixed when ordered in layer quantities.	3 Weeks to ensure maximum shelf life upon delivery. Many products manufactured to order whenever possible.		AWARD
1503	SERVINGS	Bottled Water, Unflavored - Purified, non-carbonated, caffeine free and sugar- free. Packed in twist cap plastic bottle. Each bottle to yield 16.9 oz water. Approximate pack: 24/case. Ship Lot: 500 Cases	- Thirster 767514 Crystal Geyser CGW124514CT	400,000	NO BID	NO BID	NO BID	NO BID	NO BID	0	\$0.00	#DIV/0!	\$0.00	#DIV/0!	NO BID	NO BID		NO BID

							Dry by the servi	•										
Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	MENU PLANNING COMMENTS	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	Column 6 ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17		
1504	SERVINGS	Bottled Water, Unflavored - Purfled, non-carbonated, caffeine free and sugar- free. Packed in twist cap plastic bottle. Each bottle to yield 8 oz water. Approximate pack: 24/case. Ship Lot: 500 Cases	Thirster 894890 Crystal Geyser CGW124514CT	300,000	NO BID	NO BID	NO BID	NO BID	NO BID	o	\$0.00	#DIV/0!	\$0.00	#DIV/0!	NO BID	NO BID		NO BID
1544	SERVINGS	Cereal, Snack Mix Strawberry - Individual bags made from whole grain flour and whole corn. Package size to be a minimum of 1 cunce. Total fat not to exceed 35% of calories. Saturated fat must not exceed 15% of total calories. 35% or less sugar by weight. No more than 200 mg sodium. Must provide 1cz grain equivalent for the child nutrition program. Approximately 60 servings per case. Ship Lot: 200 Cases	General Mills 31937000	150,000	CHURCHFIELD TRADING	nET 30	GENERAL MILLS	31937000	60/1.03oz	60	\$0.43	2500	\$26.10	\$65,250.00	min 1020 cs	14 days		AWARD
1544	SERVINGS	Cereal, Snack Mix Strawberry - Individual bags made from whole grain flour and whole corn. Package size to be a minimum of 1 ounce. Total fat not to exceed 35% of calories. Saturated fat must not exceed 10% of total calories. 35% or less sugar by weight. No more than 200 mg sodium. Must provide 1oz grain equivalent for the child nutrition program. Approximately 60 servings per case. Ship Lot: 200 Cases		150,000	Sysco Memphis LLC	NET30	General Mills	31937000 - Sysco 1899063	60/1.03oz	60	\$0.4381	2500	\$26.29	\$65,725.00		2-weeeks		
1563	SERVINGS	Popcorn, Cheese Flavored - Reduced fat, popped, cheddar or white cheddar cheese flavored popcorn. Must meet a minimum of 1oz. Product must meet smart snack guidelines for school nutrition programs. Packed 96/case. If packed differently, please indicate. Ship Lot: 100 Cases	Pepsico/Frito Lay - 30900	100,000	PepsiCo	1% - 15 days, net 30 days	Frito-Lay	30900	72/.5oz	72	\$0.3997	1389	\$28.78	\$39,972.22	1000 case total Frito Lay order. Items may be combined in any case assortment	2 weeks		NO AWARD AWARDED ON DIRECT BID ALREADY
1564	SERVINGS	roasted rice cereal. Must meet 1 oz grain equivalent for the child nutrition program. Approximate Pack: 72/case.	Kelloggs 3800011052 Goody Man 9432 Kelloggs 2880189 Super Bakery 9432 Kellanova 11052	200,000	Sysco Memphis LLC	NET30	Kellanova	11052 - Sysco 2880189	80/1.41oz	80	\$0.4166	2500	\$33.33	\$83,333.25		2-weeks		AWARD
1567	SERVINGS	Snack Crackers, Vegetable - 1-1.5oz all-natural vegetable flavored wheat snack cracker. To meet a minimum of 1oz grain serving for the child nutrition program. Approximate pack: 108/1.2oz servings per case. Ship Lot: 100 Cases	Darlington 76300	200,000	CHURCHFIELD TRADING	NET 30	DARLINGTON	76300	108/1.2oz	108	\$0.34	1852	\$37.64	\$69,703.70	MIN 432 CS- CAN COMBINE WITH OTHER DARLINGTON ITEMS TO MAKE SPLTS	14-21 days		AWARD

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	MENU PLANNING COMMENTS	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17		
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.													
1607	SERVINGS	Snack Crackers, Cheddar, WG - Baked cheddar snack crackers. Individual single serve packets equal to a minimum of 0.75 ezb weight and provide a minimum of 1 oz eq of grain per Child Nutrition Program guidelines. Must be made with real cheddar cheese. CN label or crediting statement required. Approximate pack: 175 per case Ship Lot: 300 Cases	Kellanova 79263 Pepsico 13136 Darlington Farms 76100 Pepperidge Farm 140023088	300,000	CHURCHFIELD TRADING	NET 30	DARLINGTON	76100	108/.9Ooz	108	\$0.36	2778	\$39.40	\$109,444.44	MIN 432 CS- CAN COMBINE WITH OTHER DARLINGTON ITEMS TO MAKE 8PLTS	14-21 days		
1607	SERVINGS	Snack Crackers, Cheddar, WG - Baked cheddar snack crackers. Individual single serve packets equal to a minimum of 0.75 oz by weight and provide a minimum of 10 cap of grain per Crail Nutrition Program guidelines. Must be made with real cheddar cheese. CN label or crediting statement required. Approximate pack: 175 per case Ship Lot: 300 Cases	Kellanova 79263 Pepsico 13136 Darlington Farms 76100 Pepperidge Farm 140023088:	300,000	Sysco Memphis LLC	NET30	Kellanova	2410079263 - Sysco 2098269	175/0.75oz	175	\$0.2016	1714	\$35.28	\$60,480.00		2-weeks		AWARD
1649	SERVINGS	Jam, Strawberry- Individual 1/2 oz. easy open pouch. Made with real strawberries. Approximate case pack 200 units. Ship Lot: 400 Cases	Heinz 540404 Welch's WELC490 Smuckers 5150000767 Welch's 70153 CF Sauer 6861	200,000	DYMA Brands, A Ventura Foods Company	1% 10/Net 30	Welch's	70153	0.5 oz	200	0.0875	1000	\$17.50	\$17,500.00	5,000# Minimum shipment. Products may be combined to meet minimum shipment requirements. Pallets can be mixed when ordered in layer quantities.	3 Weeks to ensure maximum shelf life upon delivery. Many products manufactured to order whenever possible.		AWARD
1649	SERVINGS	Jam, Strawberry- Individual 1/2 oz. easy open pouch. Made with real strawberries. Approximate case pack 200 units. Ship Lot: 400 Cases	Heinz 540404 Welch's WELC490 Smuckers 5150000767 Welch's 70153 CF Sauer 6861	200,000	CHURCHFIELD TRADING	nET 30	CF SAUER	6861	200	200	\$0.11	1000	\$21.03	\$21,030.00	3K LB MIN ORDER CAN COMBINE CF SAUER PRODUCTS	14 DAYS		

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	MENU PLANNING COMMENTS	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17		
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CUTRENT WANDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.													
1649	SERVINGS	Jam, Strawberry- Individual 1/2 oz. easy open pouch. Made with real strawberries. Approximate case pack 200 units. Ship Lot: 400 Cases	Heinz \$40404 Welch's WELC490 Smuckers \$150000767 Welch's 70153 CF Sauer 6861	200,000	Sysco Memphis LLC	NET30	Smuckers	5150000767 - Sysco 4043949	200/0.5oz	200	\$0.0998	1000	\$19.96	\$19,960.00		2-weeks		
1650	SERVINGS	Dressing, Honey Mustard, Pkg Honey mustard packet of dressing with a sweet savory honey mustard flavor. Packet size should be 1.5 ozs. Easy tear pouches. Packed approximately 60 - 100 packets per case. If packed differently, please indicate. Ship Lot: 200 Cases	Marzetti 81996 Ken's KE0634A1 Ken's KE1027B3 Ventura 13357 Flavor Fresh 77023	150,000	DYMA Brands, A Ventura Foods Company	1% 10/Net 30	Flavor Fresh	77023	1.5 oz	60	0.2508	2500	\$15.05	\$37,620.00	5,000# Minimum shipment. Products may be combined to meet minimum shipment requirements. Pallets can be mixed when ordered in layer quantities.	3 Weeks to ensure maximum shelf life upon delivery. Many products manufactured to order whenever possible.		
1650	SERVINGS	Dressing, Honey Mustard, Pkg Honey mustard packet of dressing with a sweet savery honey mustard flavor. Packet size should be 15 ozs. Easy tear pouches. Packed approximately 60 - 100 packets per case. If packed differently, please indicate. Ship Lot: 200 Cases	Marzetti 81996 Ken's KE0634A1 Ken's KE1027B3 Ventura 13357 Flavor Fresh 77023	150,000	CHURCHFIELD	NET 30	CF SAUER 8409	8409	60	60	\$0.37	2500	\$22.46	\$56,150.00	3K LB MIN ORDER CAN COMBINE CF SAUER PRODUCTS	SHELBY BOUGHT THIS LAST SUMMER- SHOULD BE SPECED		
1650	SERVINGS	Dressing, Honey Mustard, Pkg Honey mustard packet of dressing with a sweet savory honey mustard flavor. Packet size should be 1.5 ozs. Easy tear pouches. Packed approximately 60 - 100 packets per case. If packed differently, please indicate. Ship Lot: 200 Cases	Marzetti 81996 Ken's KE0634A1 Ken's KE1027B3 Ventura 13357 Flavor Fresh 77023	150,000	Marzetti	2/10 Net 30	Marzetti	81996	1.5	60	\$0.24	2500	\$14.38	\$35,950.00		5 Business Days		
1650	SERVINGS	Dressing, Honey Mustard, Pkg Honey mustard packet of dressing with a sweet savory honey mustard flavor. Packet size should be 1.5 ozs. Easy tear pouches. Packed approximately 60 - 100 packets per case. If packed differently, please indicate. Ship Lot: 200 Cases	Marzetti 81996 Ken's KE0634A1 Kon's KE1027B3 Ventura 13357 Flavor Fresh 77023	150,000	Sysco Memphis LLC	NET30	Kens	KE0634A1 - Sysco 8798993	100/1oz	100	\$0.2374	1500	\$23.74	\$35,610.00		2-weeks		AWARD
1653	SERVINGS	Sauce, Honey Mustard. Dipping sauce in individual cups with peel off lid, approximate size 1.0 oz-1.5 oz. Approximate pack 100 units /case. Ship Lot: 500 Cases	DYMA 75305 Nature's Fresh 8518387 Ventura 15247 Grande Gourmet 28005 Taste Pleasers 00716037089450 Marzetti 82828 CF Sauer 06370 Flavor Fresh 7530577007 Sauer's 06318	450,000	Marzetti	2/10 Net 30	Marzetti	82828	1	120	\$0.16	3750	\$19.46	\$72,975.00		5 Business Days		
1653	SERVINGS	Sauce, Honey Mustard, Dipping sauce in individual cups with peel off lid, approximate size 1.0 oz-1.5 oz. Approximate pack 100 units /case. Ship Lot: 500 Cases	DYMA 75305 Nature's Fresh 8518387 Ventura 15247 Grande Gourmet 28005 Taste Pleasers 00716037089450 Marzetti 2828 CF Sauer 06370 Flavor Fresh 7530577007 Sauer's 06318	450,000	CHURCHFIELD TRADING	nET 30	CF SAUER	6318	200	200	\$0.11	2250	\$22.91	\$51,547.50	3K LB MIN ORDER CAN COMBINE CF SAUER PRODUCTS	14 DAYS		AWARD

								_										
Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	MENU PLANNING COMMENTS	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	Column 6 ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17		
1653	SERVINGS	Sauce, Honey Mustard. Dipping sauce in individual cups with peel off lid, approximate is 2-1.0 cz-1.5 cz. Approximate pack 100 units /case. Ship Lot: 500 Cases	DYMA 75305 Nature's Fresh 8518387 Ventura 15247 Grande Gourmet 28005 Taste Pleasers 00716037089450 Marzetti 8223 CF Sauer 08370 Flavor Fresh 77007 Sauer's 06318	450,000	DYMA Brands, A Ventura Foods Company	1% 10/Net 30	Flavor Fresh	77007	1 oz	100	0.1580	4500	\$15.80	\$71,100.00	5,000# Minimum shipment. Products may be combined to meet minimum shipment registerements. Pallets can be mixed when ordered in layer quantities.	3 Weeks to ensure maximum shelf life upon delivery. Many products manufactured to order whenever possible.		
1654	SERVINGS	Sauce, Barbecue, Dipping - Individual cups with peel off lid, approximate size 1.0 cz-1.5 cz. Approximate pack 100 units/case. Ship Lot: 400 Cases	DYMA 70809 Ken's S.J0440A1 Ken's KE0754A1 Marzetti 83549 CF Sauer 6368 REDOA1Z Red Gold 72940-11580 Sauer's 06368	500,000	Marzetti	2/10 Net 30	Marzetti	83549	1	120	\$0.14	4167	\$16.99	\$70,791.67		5 Business Days		
1654	SERVINGS	Sauce, Barbecue, Dipping - Individual cups with peel off lid, approximate size 1.0 oz-1.5 oz: Approximate pack 100 units/case. Ship Lot: 400 Cases	DYMA 77002 Ken's SJ0440A1 Ken's KE0734A1 Marzetti 83549 CF Sauer 6368 REDOA1Z Red Gold 72940-11580 Sauer's 06368	500,000	DYMA Brands, A Ventura Foods Company	1% 10/Net 30	Flavor Fresh	77002	1 oz	100	0.1480	5000	\$14.80	\$74,000.00	5,000# Minimum shipment. Products may be combined to meet minimum shipment requirements. Pallets can be mixed when ordered in layer quantities.	3 Weeks to ensure maximum shelf life upon delivery. Many products manufactured to order whenever possible.		
1654	SERVINGS	Sauce, Barbecue, Dipping - Individual cups with peel off lid, approximate size 1.0 oz-1.5 oz. Approximate pack 100 units/case. Ship Lot: 400 Cases	DYMA 70809 Ken's S.10440A1 Ken's KE0734A1 Marzetti 83549 CF Sauer 6368 REDOA1Z Red Gold 72940-11580 Sauer's 06368	500,000	CHURCHFIELD TRADING	NET 30	CF SAUER	6368	100	100	\$0.17	5000	\$16.71	\$83,550.00	3K LB MIN ORDER CAN COMBINE CF SAUER PRODUCTS	14 DAYS		
1654	SERVINGS	Sauce, Barbecue, Dipping - Individual cups with peel off lid, approximate size 1.0 oz-1.5 oz: Approximate pack 100 units/case. Ship Lot: 400 Cases	DYMA 70809 Ken's SL074401 Ken's KE0734A1 Marzetti 83549 CF Sauer 6388 REDOA1Z Red Gold 72940-11580 Sauer's 06368	500,000	Red Gold	Net 30	Red Gold	REDOA1Z	250 / 1 oz cup	250	\$0.14	2000	\$35.04	\$70,080.00	Price provided is for LTL shipment (10,000 pounds). Must be shipped in full pallet quantity	2 weeks		AWARD
1654	SERVINGS	Sauce, Barbecue, Dipping - Individual cups with peel off lid, approximate size 1.0 cz-1,5 cz. Approximate pack 100 units/case. Ship Lot: 400 Cases	DYMA 70809 Ken's S.0440A1 Ken's KE0784A1 Marzetti 83549 CF Sauer 6388 REDOA1Z Red Gold 72940-11580 Sauer's 06368	500,000	Sysco Memphis LLC	NET30	Kens	SJ0440A1 - Sysco 0780031	100/1.25oz	100	\$0.2212	5000	\$22.12	\$110,600.00		2-weeks		
1698	SERVINGS	Fruit Slush Pouch, Tropical Fruit, Frozen- Each serving to meet ½ cup eq of fruit per USDA child nutrition program guidelines. Must be made with 100% fruil pice and no added sugars. Intended to be eaten partially frozen at a slush consistency and should include a variety of flavors. Crediting statement or CN label required. Approximately packed 60 per case. If packed differently, please indicate. Ship Lot: 300 Cases	t	300,000	Cool Tropics		Welch's by Cool Tropics	14505	4 ounce	60	\$0.39	5000	\$23.35	\$116,750.00	28 pallets (2,240 cases) @ \$22.75 per case. 14 pallets minimum (1,120 cases) @ \$23.35. See price list enclosed for more details.	3 weeks		AWARD

Stock Number	Unit	Approved Brand (Manufacture Product Description	Estimated Number of Servings (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	MENU PLANNING COMMENTS	AWARDS
Column 1	Column 2	Column 3 Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17		
		Bid Submissions That Deviate From What is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response. Response. ALL PACK SIZES FOR T FOLLOWING SPECIFIC REFLECT CURRENT AN ALL PACK SIZES WILL THOROUGHLY CONSIGNATION AND EVALUATED.	RDS. BE will accept an approved equal (1) as long as it meets the bid	ALL SHIP LOTS ARE IN CASES.													
1699		Fruit Slush Pouch, Mango Pacch, Frozen-Each serving to meet ½ cup e.g. of Cool Tropics 14506 fruit per USDA child nutrition program guidelines. Must be made with 100% fruit juice and no added sugars. Intended to be eaten partially frozen at a slush consistency and should include a variety of flavors. Crediting statement or CN label required. Approximately packed 60 per case. If packed differently, please indicate. Ship Lot: 300 Cases	300,000	Cool Tropics		Welch's by Cool Tropics	14506	4 ounce	60	\$0.39	5000	\$23.35	\$116,750.00	28 pallets (2,240 cases) @ \$22.75 per case. 14 pallets minimum (1,120 cases) @ \$23.35. See price list enclosed for more details.	3 weeks (excluding weekday holidays)		AWARD
1700		Fruit Slush Pouch, Blue Raspberry, Frozen-Each serving to meet ½ cup eq of fruit per USDA child nutrition program guidelines. Must be made with 100% fruit juice and no added sugars. Intended to be eather partially fireze at a slush consistency and should include a variety of flavors. Crediting statement or CN label required. Approximately packed 60 per case. If packed differently, please indicate. Ship Lot: 300 Cases	300,000	Cool Tropics		Cool Tropics	16002	4 ounce	60	\$0.38	5000	\$22.55	\$112,750.00	28 pallets (2,240 cases) @ \$21.95 per case. 14 pallets minimum (1,120 cases) @ \$22.55. See price list enclosed for more details.	3 weeks (excluding		AWARD
1716	SERVINGS	Raisins-Flavored, Fruit. Watermelon. Watermelon flavored raisins made from golden raisins. Must meet at least 1/2 c fruit for the Child Nutrition Program. Approximate Pack: 200/1.66 oz packs per case. Raisels 100-70044-15844-Sunmaid 0405987000 Raisels 100-70044-15844-Sunmaid 0405987000 Ship Lot: 300 Cases	100,000	CHURCHFIELD TRADING	nET 30	SUNMAID	5987	200/1.66	200	\$0.32	500	\$65.63	\$32,815.00		14-21 DAYS		AWARD
1717	SERVINGS	Raisin-Flavored, Fruit. Fruit Splash. Tropical Fruit flavored raisins made from golden raisins. Must meet at least 1/2 c fruit for the Child Nutrition Program. Approximate Pack:200/1.66 oz packs per case. Ship Lot: 300 Cases	100,000	CHURCHFIELD TRADING	nET 30	SUNMAID	5982	200/1.66	200	\$0.32	500	\$65.63	\$32,815.00		14-21 DAYS		AWARD
1762	SERVINGS	Mini Snack Crackers, WG - Made with whole wheat flour. Each serving provides a minimum of 2 oz grain equivalent for the child nutrition program. Individually packaged. Approximate pack: 100/case Ship Lot: 400 Cases	400,000	JNS FOODS	Net 30	Back to Basics	37401	1.6oz	100	\$0.31	4000	\$30.99	\$123,960.00		3		AWARD
1789	SERVINGS	Syrup, Table - Sugar-Free. Maple flavored syrup for pancakes or waffles. In a 1.0 cunce individual portion cup with peel off top. Approximate pack: 100 units/case. Ship Lot: 500 Cases	600,000	CHURCHFIELD TRADING	NET 30	CF SAUCERS	6384	100	100	\$0.22	6000	\$21.51	\$129,060.00	3K LB MIN ORDER CAN COMBINE CF SAUER PRODUCTS	14 DAYS		

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	MENU PLANNING COMMENTS	AWARDS
Column 1	Column 2	Specifications Below Will be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	Column 6 ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17		
1789	SERVINGS	Syrup, Table - Sugar-Free. Maple flavored syrup for pancakes or waffles. In 1 a 1.0 cunce individual portion cup with peel off top. Approximate pack: 100 units/case. Ship Lot: 500 Cases	Saucer's 06384 Flavor Fresh 76993	600,000	DYMA Brands, A Ventura Foods Company	1% 10/Net 30	Flavor Fresh	75993	1 oz	100	0.1230	6000	\$12.30	\$73,800.00	5,000# Minimum shipment. Products may be combined to meet minimum shipment requirements. Pallets can be mixed when ordered in layer quantities.	3 Weeks to ensure maximum shelf life upon delivery. Many products manufactured to order whenever possible.		AWARD
1821	SERVINGS	Toaster Pastry, Whole Grain Strawberry- Individually Wrapped, Frosted, Fully Cooked, Minimum portion 2.25 cz. Must be less than 35% of calories from fat, 10% sal. fat and 35% sugar by weight, At least 4 grams of their/serving. Must provide at least 2 cz grain equivalent for the Child Nutrition Program. Packed: 72 servings/case. Shin Lot: 600 Cases	Kellogg's 55133	300,000	Sysco Memphis LLC	NET30	Kellanova	55133 - Sysco 0445074	72/3.53oz	72	\$0.5061	4167	\$36.44	\$151,851.67		2-weeks		AWARD
1825	SERVINGS	contain pineapple and papaya and other fruits. Each cup to meet 1/2 cup fruit	Dole - 3048 ZecZees - 615671 ZecZees - 608770C	300,000	Sysco Memphis LLC	NET30	Dole	3048 - Sysco 4714655	36/4oz	36	\$0.4867	8333	\$17.52	\$146,000.00		2-weeks		AWARD
1826	SERVINGS	Beverage, Sport Drink - Fruit Punch flavored Non carbonated, caffeine free, it sugar free to contain no more than 110 mg Na per 12 oz. Packed in non breakable container. Approximate Pack:24/12OZ Ship Lot: 100 Cases	Gatorade G2 - 10052000122029	50,000	Sysco Memphis LLC	NET30	Gatorade	10052000122029 - Sysco 8567093	24/12oz	24	\$0.6742	2083	\$16.18	\$33,708.33		2-weeks		AWARD
1828		Sports Drink, Glacier Freeze - Non- carbonated, 12 oz. reduced sugar beverage with no more than 110 mg sodium per serving, packged in a non breakble resealable bottle. Pack size 24/12 oz. bottles/case. Ship Lot: 100 Cases	Gatorade G2 - 10052000120063	50,000	Sysco Memphis LLC	NET30	Gatorade	10052000120063 - Sysco 7175749 - New item	24/12oz	24	\$0.6742	2083	\$16.18	\$33,708.33		5-weeks		AWARD
1858	SERVINGS	Crackers, Honey Graham - Made with whole grain wheat graham flour. Three I perforated cracker squares per package. No character shapes. Must meet 1 oz. grain eq. for the Child Nutrition program. Please provide crediting. Approximate Pack: 150/case	Kellanova 91822	300,000	Sysco Memphis LLC	NET30	Kellanova	91822 - Sysco 2093213	150/3CT	150	\$0.1505	2000	\$22.57	\$45,140.00		2-weeks		AWARD
1872	SERVINGS	Almond Milk, Vanilla Flavored. Shaff stable 8 oz, vanilla flavored. Free of dairy, soy, lactose, guten, casein, egg, and MSG. 8 oz. single serve containers. Case pack 18 servings, indicate if packed differently. Ship Lot: 100 Cases	Silk 136461	80,000	NO BID	NO BID	NO BID	NO BID	NO BID	0	\$0.00	#DIV/0!	\$0.00	#DIV/0!	NO BID	NO BID		NO BID

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	MENU PLANNING COMMENTS	AWARDS
Column 1		Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	Column 6 ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17		
1874	SERVINGS	Milk, Soy, Vanilla Flavored 8 oz - Shelf stable soy based milk. To contain all nutrients to qualify as reimbursable through the USDA Child Nutrition program as fluid milk. Ship Lot: 200 Cases	Kikkoman Pearl 06184 Silk 136466	75,000	Sysco Memphis LLC	NET30	Silk	136466 - Sysco 0177347	18/8oz	18	\$0.8333	4167	\$15.00	\$62,500.00		2-weeks		AWARD
1876	SERVINGS	Milk, Soy, Chocolate Flavored 8 oz- Shelf stable soy based milk. To contain all nutrients to qualify as reimbursable through the USDA Child Nutrition program as fluid milk. Ship Lot: 200 Cases	Silk 0177321 Kikkoman 06185	100,000	NO BID	NO BID	NO BID	NO BID	NO BID	0	\$0.00	#DIV/01	\$0.00	#DIV/0!	NO BID	NO BID		NO BID
2033	SERVINGS		No Approved Brands	50,000	DYMA Brands, A Ventura Foods Company	1% 10/Net 30	Flavor Fresh	77021	1.5 oz	60	0.2175	833	\$13.05	\$10,875.00	5,000# Minimum shipment. Products may be combined to meet minimum shipment requirements. Pallets can be mixed when ordered in layer quantities.	3 Weeks to ensure maximum shelf life upon delivery. Many products manufactured to order whenever possible.		AWARD SAMPLE SENT SAMPLE PASSED
2329	SERVINGS	Parmesan Packets - Dry parmesan cheese powder, pasteurized part-skim milk. Case pack 200 servings. Please indicate if packed differently. Ship Lot: 300 Cases	Single Serve 58725	200,000	DYMA Brands, A Ventura Foods Company	1% 10/Net 30	Single Serv	58725	3.5 g	200	0.0578	1000	\$11.55	\$11,550.00	5,000# Minimum shipment. Products may be combined to meet minimum shipment requirements. Pallets can be mixed when ordered in layer quantities.	3 Weeks to ensure maximum shelf life upon delivery. Many products manufactured to order whenever possible.		AWARD
2330	SERVINGS	Soy Sauce, Individual Packets - Low sodium soy sauce packets. Case pack 500 servings. Please indicate if packed differently. Ship Lot: 300 Cases	No Approved Brands	300,000	NO BID	NO BID	NO BID	NO BID	NO BID	0	\$0.00	#DIV/0!	\$0.00	#DIV/0!	NO BID	NO BID		NO BID
2335	SERVINGS	Apple Sauce, Pink Lemonade - Shelf-stable individual 10 cups unsweetened pink lemonade flavored applesauce. Must provide CN or crediting statement and smart snack guidelines. Approximately packed 96 per case. If packed differently, please indicate. Ship Lot: 300	Zee Zees/ National Food Group A3610	300,000	National Food Group	Net 30	Zoe Zees	A3610	96/ 4.5 oz	96	\$0.30	3125	\$29.15	\$91,093.75	Please order in pallet quantities of 48 to meet pallet height restrictions. This item can be ordered with any fruit cup or applesauce from Zee Zees.	3 weeks		AWARD
2337	SERVINGS	Graham Crackers, Mini Squares - Mini Graham Crackers made with whole grain wheat graham flour. Contains real honey with no fructose corn syrup. Must meet 1 oz. grain equivalent per Child Nutrino program. Please provde crediting. Approximately packed 72 per case. If packed differently, please indicate. Ship Lot: 300 Cases	Mondelez 19320001663	200,000	Sysco Memphis LLC	NET30	Mondelez	19320001663 - Sysco 1928934	72/1.06oz	72	\$0.2935	2778	\$21.13	\$58,694.44	Remote UPS drop ship	3-weeks		AWARD

							Dry by the Servi	Ü										
Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	MENU PLANNING COMMENTS	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17		
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.													
		Coffee, Cold Brew, Vanilla - Vanilla Latte flavored coffee, sweetened with milk. Packed in non breakable container. Must be compliant with Smart Snack Guidelines. Each bottle to yield 8 oz.	Heartland-Java House FA10E080															
		Approximate Pack: 24/case													MINIMUM DELIVERY:			
2346	SERVINGS	Ship Lot: 100 Cases		20,000	Tasty Brands	1%10, net 20	Tasty Brands	68003	24/8.00 oz	24	\$1.29	833	\$30.96	\$25,800.00	5,000 pounds. If a Proview Foods order is shipping same week, orders may be combined to for a 6-pallet minimum ship.	2 wks		NO AWARD NO SAMPLE SENT
2347	SERVINGS	Coffee, Cold Brew, Latte - Latte flavored coffee, sweetened with milk. Packed in non breakable container. Must be compliant with Smart Snack Guidelines. Each bottle to yield 8 cz. Approximate Pack: 24/case Ship Lot: 100 Cases	Heartland-Java House FA10E040	20,000	Tasty Brands	1%10, net 20	Tasty Brands	68002	24/8.00 oz	24	\$1.29	833	\$30.96	\$25,800.00	MINIMUM DELIVERY: 5,000 pounds. If a Proview Foods order is shipping same week, orders may be combined to for a 6-pallet	2 wks		NO AWARD
															minimum ship.			
2354	SERVINGS	Tea, Reduced Sugar, Sweet - Unflavored, 12 oz. reduced sugar sweet tea. Packed in non breakable container. Must meet smart snack guidelines for the child nutrition program. Please indicate pack size. Ship Lot: 100 Cases	No Approved Brands	25,000	NO BID	NO BID	NO BID	NO BID	NO BID	0	\$0.00	#DIV/0!	\$0.00	#DIV/0!	NO BID	NO BID		NO BID
2356	SERVINGS	Beverage, Sparkling Juice, Orange Tangerine - Carbonated, caffiene free, no added sweetners to contain no more than 110 milligrams of sodium per 12 oz. Must be 100% fruit juice. Packed in non breakable container. Approximately 24 8.4 oz cans. Please indicate if packed differently. Ship Lot: 100 Cases	Switch 7C2475OT	25,000	Sysco Memphis LLC	NET30	Switch	7C2475OT - Sysco 7237590	24/7.5oz	24	\$0.6713	1042	\$16.11	\$16,781.25		2-weeks		AWARD
		Fruit Snack, Assorted Fruit - Fruit flavored snacks made from 100% fruit	Welch's 14498															
2357	SERVINGS	juice. Mixed fruit flavored. Must meet smart snack guidelines for the child nutrition program. Approximate Pack: 144 per case. Please indicate pack size.	Mott's 14498	75,000	CHURCHFIELD TRADING	NET 30	MOTTS	14498	144	144	\$0.41	521	\$58.95	\$30,703.13	MIN 360 CS	14-21 DAYS		AWARD
		Ship Lot: 100 Cases																
		Fruit Snack, Assorted Fruit - Fruit flavored snacks made from 100% fruit juice. Mixed fruit flavored. Must meet smart snack guidelines for the child nutrition program.	Welch's 14498 Mott's 14498															
2357	SERVINGS	Approximate Pack: 144 per case. Please indicate pack size.		75,000	NO BID	NO BID	NO BID	NO BID	NO BID	0	\$0.00	#DIV/0!	\$0.00	#DIV/0!	NO BID	NO BID		NO BID
		Ship Lot: 100 Cases																
2363	SERVINGS	Toaster Pastry, Whole Grain Brown Sugar- Individually Wrapped, Frosted, Fully Cooked, Minimum portion 2.25 cz. Must be less than 35% of calories from fat, 10% saft and 35% sugar by weight, At least 4 grams of liber/serving, Must provide at least 2 cz grain equivalent for the Child Nutrition Program Packed: 72 servings/case. Ship Lot: 500 Cases	Kellogg's 3800055125	150,000	Sysco Memphis LLC	NET30	Kellanova	3800055125 - Sysco 0445090	72/3.53oz	72	\$0.5061	2083	\$36.44	\$75,925.83		2-weeks		AWARD

							Diy by the servi	•										
Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	MENU PLANNING COMMENTS	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17		
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT WANADS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.													
3017	SERVINGS	Cereal, Blueberry Corn - Individual bowl pack squares. Made with blueberry flavoring, Must meet 2 oz. grain equivalent for the Child Nutrifion Program. No more than 12 grams of sugar per 2 oz. serving. CN label or crediting statement required. Ship Lot: 400 Cases		250,000	CHURCHFIELD TRADING	nET 30	general mills	172620	60/2oz	60	\$0.61	4167	\$36.74	\$153,083.33	min 495	14 days		AWARD
3017	SERVINGS	Ceroal, Blueberry Corn. Individual bowl pack squares. Made with blueberry flavoring, Must meet 2 oz. grain equivalent for the Child Nutrition Program. No more than 12 grams of sugar per 2 oz. serving. CN label or crediting statement required. Ship Lot: 400 Cases		250,000	Sysco Memphis LLC	NET30	General Mills	17262 - Sysco 7143888	60/2oz	60	\$0.6217	4167	\$37.30	\$155,416.67	Remote UPS drop ship	3-weeks		
3110	SERVINGS	Taco Shell - Yellow corn hard taco shell. Minimum of 6", whole grain corn taco shells. Each taco must meet a minimum of .5 oz. grain equivalent for the Child Nutrition Program. Ready to heat and eat and provde crispy bite. Approximate pack size 200 per case. Ship Lot: 300 Cases	No Approved Brands	250,000	CHURCHFIELD TRADING	nET 30	GENERAL MILLS	75265807046	200/0.39 OZ	200	\$0.16	1250	\$32.33	\$40,412.50	MIN 840CS	14 DAYS		SAMPLE SENT SAMPLE PASSED ADD AS APPROVED BRAND
3110	SERVINGS	Taco Shell - Yellow corn hard taco shell. Minimum of 6', whole grain corn taco shells. Each taco must meet a minimum of 5 oz. grain equivalent for the Child Nutrition Program. Ready to heat and eat and provide crispy bite. Approximate pack size 200 per case. Ship Lot: 300 Cases	No Approved Brands	250,000	Sysco Memphis LLC	NET30	Tyson	10248500621 - Sysco 3067747	1/6.5# (200CT)	200	\$0.0899	1250	\$17.98	\$22,475.00	Sample delivered by Tyson 5/15	3-weeks		SAMPLE SENT SAMPLE PASSED ADD AS APPROVED BRAND
3110	SERVINGS	Taco Shell - Yellow corn hard taco shell. Minimum of 6", whole grain corn taco shells. Each taco must meet a minimum of .5 oz. grain equivalent for the Child Nutrition Program. Ready to heat and eat and provde crispy bite. Approximate pack size 200 per case. Ship Lot: 300 Cases	No Approved Brands	250,000	Tyson	Net 30 Days	MEXICAN ORIGINAL	10248500621	100 / 1.04 oz	100	\$0.1618	2500	\$16.18	\$40,450.00		2 Weeks		AWARD SAMPLE SENT SAMPLE PASSED ADD AS APPROVED BRAND
3111	SERVINGS	Bean Dip, IW - Shelf stable bean dip. Each cup must meet a minumin of 1 oz. meet/meet alternate. Smart Snack compliant. Approximate pack size 120 per case. Ship Lot: 300 Cases	No Approved Brands	150,000	National Food Group	Net 30	Zee Zees	A5700	120 /3 oz	120	\$0.49	1250	\$59.00	\$73,750.00	Please order in even pallet quantities of 64 cases and a minimum of 320 cases per ship lot for even pallet quantities. This item can be purchased on same PO as other Zee Zees items.	3 weeks		AWARD SAMPLE SENT SAMPLE PASSED
3111	SERVINGS	Bean Dip, IW - Shelf stable bean dip. Each cup must meet a minumin of 1 oz. meat/meat alternate. Smart Snack compliant. Approximate pack size 120 per case. Ship Lot: 300 Cases	No Approved Brands	150,000	PepsiCo	1% - 15 days, net 30 days	Frito-Lay	15066	24/3.125oz	24	\$0.8329	6250	\$19.99	\$124,937.50	1000 case total Frito Lay order. Items may be combined in any case assortment	2 weeks		NO SAMPLE SENT

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	MENU PLANNING COMMENTS	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17		
		Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.													
3112	SERVINGS	Fruit Cup, Diced Apple, Cinnamon, IW - Sheff stable bean dip. Each cup must meet a minumin of 1/2 cup fruit. Approximately packed 72 per case. If packed differently, please indicate. Ship Lot: 300 Cases	No Approved Brands	200,000	National Food Group	Net 30	Zee Zees	1750	72/ 4.5 oz	72	\$0.49	2778	\$35.00	\$97,222.22	Please order in pallet quantities of 64 cases to meet pallet height restrictions. This item can be ordered with any fruit cup or applesauce from Zee Zees.	3 weeks		AWARD SAMPLE SENT SAMPLE PASSED
3113		Salsa, Mini, I.W Shelf stable salsa dip. Each cup must meet a minumin of 1 meat/meat afternate. Approximately packed 72 per case. If packed differently, please indicate. Ship Lot: 300 Cases	No Approved Brands	250,000	Red Gold	Net 30	Red Gold	REDSC2ZC84	84 / 3 oz cup	84	\$0.42	2976	\$34.97	\$104,077.38	Price provided is for LTL shipment (10,000 pounds). Must be shipped in full pallet quantity	2 weeks		AWARD SAMPLE SENT SAMPLE PASSED
3114	SERVINGS	Potatoes, Au Gratin Casserole - Made with fresh potato slices and cheese sauce made of aged cheddar cheese. Complete dry mix packed in pure-pak cartons or pouch. To include rich, creamy cheese sauce. Less than 350 mg of sodium per half cup servings. No more than 26% of calories from fat. Serving size = 1/2 cup. Ship Lot: 550 Cases	Basic American 20922	200,000	CHURCHFIELD TRADING	NET 30	BASIC AMERICAN	20922	6/2.25# gal ctn	216	\$0.25	926	\$54.92	\$50,851.85	2K LB MIN	14-21 DAYS		AWARD
3114	SERVINGS	Potatose, Au Gratin Casserole - Made with fresh potato silices and cheese sauce made of aged cheddar cheese. Complete dry mix packed in pure-pak cartors or pouch. To include rich, creamy cheese sauce. Less than 350 mg of sodium per half cup servings. No more than 26% of calories from fat. Serving size = 1/2 cup. Ship Lot: 550 Cases	Basic American 20922	200,000	Sysco Memphis LLC	NET30	Basic American	20922 - Sysco 5946348 - New item	6/2.25#	264	\$0.2677	758	\$70.68	\$53,545.45		5-weeks		

Stock Number	Unit	Description	Approved Brands (Manufacture Product Code)	Estimated Number of Cases (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	Menu Planning Comment	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	COlumn 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	Column 6 ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19
1111	CASE	Pickles, Dill Hamburger, Sliced - Resealable plattic jar of #10 can. Contains approx. 1125 month or orifless out disces. Packet to USDA Approximate Pack. Please indicate pack size. Ship Lot: 200 Cases	Bay Valley 127/12822891393 Cajun Chef Heinz 5218904 Heinz 10013000658208	800	NO BID	NO BID	NO BID	NO BID	NO BID	0	\$0.00	#DIV/0!	\$0.00	#DIV/0!	NO BID	NO BID		NO BID
1181	CASE	Gravy Mix - Brown Gravy Mix, Dry - Dry powder mix to add water to reconstitute. Seasonings added with no MSG. Comlains no trans fat. May be in a reseatable jurifug or in single use packets. Please indicate packaging. Ship Lot. 300 Cases	Sysco Imperial 92175 Chef's Companion 57774 Nestle Trio 382733	1,300	CHURCHFIELD TRADING	NET30	CONTESGA	99486	12/7.5oz	420	\$0.05	3	\$22.04	\$68.22		14-21 days		SAMPLE SENT SAMPLE PASSED ADD AS APPROVED BRAND
1181	CASE	Gravy Mix. Brown Gravy Mix. Dry - Dry powder mix to add water to reconstitute. Seasonings added with no MSG. Contains no trans fat. May be in a reseable laying or in single use packets. Please indicate packaging. Ship Lot: 300 Cases	Sysco Imperial 92175 Chef's Companion 57774 Nestle Trio 382733	1,300	DYMA Brands, A Ventura Foods Company	1% 10/Net 30	Chef's Companion	57774	8/14 oz	512	0.0450	1,300	\$23.05	\$29,965.00	5,000# Minimum shipment. Products may be combined to meet minimum shipment requirements. Pallets can be mixed when ordered in layer quantities.	3 Weeks to ensure maximum shelf life upon delivery. Many products manufactured to order whenever possible.		AWARD
1199	CASE	Buffalo Sauce – Traditional Buffalo sauce flavor. Bright redicrange in older. Made with vinegar, cayenne peopers, and other winegar cayenne peopers, and other pack. Approximate pack size: 4/1 gallon containers.	Cajun Chef 12205 T Marzetti 88123 Frank's 74161	1,000	Marzetti	2/10 Net 30	Marzetti	88123	2 Gallon	256	\$0.12	4	\$31.71	\$31,710.00		5 Business Days		\$15.86 PER GALLON (Required number of cases should be 1000)
1199	CASE	Buffalo Sauce - Traditional Buffalo sauce flavor. Bright redicrange in color. Made with winger, cayening Peopers, and other winger, cayening Reacy to use resealable pack. Approximate pack size. 411 gallon containers. Ship Lot: 200 Cases	Cajun Chef 12205 T Marzetti 88123 Frank's 74161	1,000	Sysco Memphis LLC	NET30	McCormick/Frank	74161 - Sysco 6404743	4/1GAL	1008	\$0.0590	1	\$59.96	\$59,960.00		2-weeks		AWARD \$14.99 PER GALLON (Required number of cases should be 1000)
1207	CASE	Terlyaki Glaze – Lower sodium Terlyaki Glaze made with soy sauce, sugar, and additional Assian flavorings. Pre thickened, ready to use. Resealable cap. Ship Lot: 200 Cases	Kikkoman 01657	200	Sysco Memphis LLC	NET30	Kikkoman	01657 - Sysco 4552248	6/5.3#	128	\$0.4320	2	\$55.29	\$11,058.00		3-weeks		AWARD (Required number of cases should be 200)
1211	CASE	Mayonnaise - Lite reduced calorie. Should contain no more than 30% of calories from fat, no trans fat. 1 gallon in with a reseable cap. Approximate Pack: 4/1 gallon per case Ship Lot: 200 Cases		1,200	CHURCHFIELD TRADING	NET30	DUKES	6073	4	1024	\$62.93	1	\$53.70	\$64,440.00	3K LB MIN ORDER CAN COMBINE CF SAUER PRODUCTS	14 days		(Required number of cases should be 1200)
1211	CASE	Mayonnaise - Lite reduced calorie. Should contain no more than 30% of calorists from fat, no trans fat. 1 gallon jar with a resealable cap. Approximate Pack: 4/1 gallon per case Ship Lot: 200 Cases	Duke's 06073 Ventura 72040 American Harvest 155 Sysco 4002432	1,200	Sysco Memphis LLC	NET30	Sysco	4002432	4/1GAL	1024	\$0.3983	1	\$40.79	\$48,948.00		2-weeks		AWARD (Required number of cases should be 1200)

Stock Number	Unit	Description	Approved Brands (Manufacture Product Code)	Estimated Number of Cases (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	Menu Planning Comment	AWARDS
Column 1	Column 2	Column 3 Il dishimissions That Deviate From What Is Being Requested to The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	COlumn 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	Column 6 ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19
1224	CASE	Chill Lime Seasoning - Reduced Sodium - with chili peppers, lime, and sea salt. Individual packets, 1 gram. Approximately 1000 per case. Serving size = 1 packet. Ship Lot: 200 Cases	Tajin 28805	200	Sysco Memphis LLC	NET30	Tajin	28805 - Sysco 7011742	1000/1GM	1000	\$0.0546	0	\$54.56	\$10,912.00	Remote UPS drop ship	3-weeks		AWARD
1224	CASE	Chili Lime Seasoning - Reduced Sodium - with chili peppers, lime, and sea salt. Individual packets, 1 gram. Approximately 1000 per case. Serving size = 1 packet. Ship Lot: 200 Cases	Tajin 28805	200	CHURCHFIELD TRADING	NET30	TAJIN	28805	1000/1 GRAM	1000	\$0.06	0	\$65.92	\$13,184.00		14 DAYS		
1276	CASE	Oil, Vegetable, Blend - Vegetable oil for frying, baking and saladis. Should be trans fat free (0 grams trans fat), no BHT Approximate Pack: 6/1 galfon/case. Ship Lot: 100 Cases	Chef's Pride 54107 GFS/Cargill 61488 Harvest Value 291524 Wesson 2700061234	400	NO BID	NO BID	NO BID	NO BID	NO BID	0	\$0.00	#DIV/0!	\$0.00	#DIV/0!	NO BID	NO BID		NO BID
1288	CASE	Sauce, Honey Gold - A blend of spices with langy muster favor. Golden brown in color. Joulisels to be used as a wing sauce or dipping sauce. Approximate Pact: 411-Gallon-Case Ship Lot: 200 Cases	Ken's 3369473 Ken's SJ2346F	1,000	Sysco Memphis LLC	NET30	Kens	SJ5051HF - Sysco 7320390	4/1GAL	256	\$0.2487	4	\$63.66	\$63,660.00	SJ2346HF discontinued & replaced with SJ5051HF - currently being purchased by SCS	2-weeks		AWARD SAMPLE SENT SAMPLE PASSED ADD AS AN APPROVED BRAND
1331	CASE	Soup, Cream of Chicken - A condensed soup with not more than \$30 pt. Sodium per 8 oz. soving. Made with real cream. No MSG. Approximate Pack: 12/50 oz. cans Ship Lot: 50 Cases	Campbell's Healthy Request 5100004143	200	Sysco Memphis LLC	NET30	Campbells	20000004143 - Sysco 5044979	12/50oz	132	\$0.4545	2	\$60.00	\$12,000.00	MFG code provided on bid incorrect, please see correct MFG code from broker	3-weeks		AWARD SAME PRODUCT, BUT MANUFACTURER'S CODE CHANGED
1335	CASE	Dry Ranch Seasoning - Must contain a blend of parsley, dill, chives, garlic, onion, salt, and pepper, Approximate pack aize, 15-50 containers per case. Please indicate if packed differently. Ship Lot: 200 Cases	Chef's Companion/Dyma Brands 57075	3,600	DYMA Brands, A Ventura Foods Company	1% 10/Net 30	Chef's Companion	57075	18/3.2 oz	2304	0.0063	3,600	\$14.55	\$52,380.00	5,000# Minimum shipment. Products may be combined to meet minimum shipment requirements. Pallets can be mixed when ordered in layer quantities.	3 Weeks to ensure maximum shelf life upon delivery. Many products manufactured to order whenever possible.		AWARD
1339	CASE	Mexican Rice Seasoning Mix -Seasoning with a blend of spices and herbs with a southwestern profile. With a variety of dehydrate vegetables: bell peppers, onions, and garlic. No MSG added. Approximate Pack: 6 containers per case. Ship Lot: 200 Cases	Diamond Crystal 58801	400	DYMA Brands, A Ventura Foods Company	1% 10/Net 30	Chef's Companion	58801	6/6.82 oz	232	0.0563	400	\$13.05	\$5,220.00	shipment. Products may be combined to meet minimum shipment requirements. Pallets can be mixed when ordered in layer quantities.	3 Weeks to ensure maximum shelf life upon delivery. Many products manufactured to order whenever possible.		AWARD
1363	CASE	Vegetable Base, Low-Sodium - Shelf stable, low sodium vegetable base. In paste form. No acided MGC, Gluber fee. Less than 140m. acided MGC, Gluber fee. Less than 140m. favors. Made from vegetables to include onion, celler, and carrois. For bad and celler, and carrois. For bad and cell applications. Approximate pack - 6/1 lb containers per case Ship Lot: 100 Cases	Custom Culinary 08441EGLD	300	Sysco Memphis LLC	NET30	Custom Culinary	08441EGLD - Sysco 8374019	6/1#	544	\$0.0903	1	\$49.14	\$14,742.00	Remote UPS drop ship	3-weeks		AWARD

				Estimated Number of						Estimated	Cost	Required				LEAD TIME FROM		
Stock Number	Unit	Description	Approved Brands (Manufacture Product Code)	Cases (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Servings per Case	Per Serving	Number of Cases	Cost Per Case	Extended Total Cost	Comments	ORDER (IN WEEKS)	Menu Planning Comment	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCs will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	Column 6 ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19
1371	CASE	Salt, Kosher - White crystals in form with no additives. Anti-caking additive acceptable. Packed: 12/3 lb boxes per case. Ship Lot: 200 Cases	TRU FLO 24044 Morton TFC Purex Morton H-I- Salt-TFC Purex-50 Cargill 7499 Badia 40494	400	Badia	Net 30	Badia	40494	4/42oz	10.5	\$1.49	400	\$15.61	\$6,244.00	Pricing is delivered based on a 2,000LB minimum per order not per item	15 BUSINESS DAYS		AWARD
1377	CASE	Vinegar - 1 gallon plastic jugs, distilled, while, 4- 5% acetic acid. Ship Lot: 100 Cases	Sysco Memphis LLC (911123) GFSW0eber 7488000211 Packer 4713475 Kaiser # 08371 Gordon Mickan America's 107247 Garden Club #608054100 Rich in All 526-18999	800	Sysco Memphis LLC	NET30	Sysco	911123 - Sysco 4113049	4/1GAL	1008	\$0.0187	1	\$18.89	\$15,112.00		2-weeks		AWARD
1381	CASE	Sugar, Granulated - Pure white sugar in granulated crystals. Approximate Pack: 25 lb bag. Ship Lot: 100 Cases	Walrus 62489 Diamond Crystal 29804 Domino 403305 Dixie Crystal 35600 Domino 4046320 Sysco 5087572	400	Sysco Memphis LLC	NET30	Sysco	5087572	1/25#	1417	\$0.0159	0	\$22.54	\$9,016.00		2-weeks		AWARD
1389	CASE	Honey, Ind Pkg - 5-9g individual packet of US Grade A pure honey. Golden in color. Sweet Bavor. Approximate pack size 200 per case. Ship Lot: 200 Cases	No Approved Brands	400	DYMA Brands, A Ventura Foods Company	1% 10/Net 30	Flavor Fresh	75999	9 g	200	0.1253	400	\$25.05	\$10,020.00	5,000# Minimum shipment. Products may be combined to meet minimum shipment requirements. Pallets can be mixed when ordered in layer quantities.	3 Weeks to ensure maximum shelf life upon delivery. Many products manufactured to order whenever possible.		AWARD SAMPLE SENT SAMPLE PASSED ADD AS APPROVED BRAND
1389	CASE	Honey, Ind Pkg - 5-9g individual packet of US Grade A pure honey. Golden in cotor. Sweet flavor. Approximate pack size 200 per case. Ship Lot: 200 Cases	No Approved Brands	400	Sysco Memphis LLC	NET30	Kraft/Heinz	10013000533703 - Sysco 5543871	200/9GM	200	\$0.1412	2	\$28.23	\$22,584.00		2-weeks		
1918	CASE	Affredo Sauce - Mix Dry- Mix made with a cheese blend of cheddar and parmesan cheese. behavior of the cheddar and parmesan cheese. has a rich full body flavor with visible herbs and spices. No MSG. Shelf stable. Packaged in a single use packets. Please indicate number of packets per case. Ship Lot: 300 Cases	Foothill Farms 575T-T0700 Chef's Companion 5747920 Chef's Companion 57463 Custom Culinary - 12935BCFP CH Guenther 94341	1200	DYMA Brands, A Ventura Foods Company	1% 10/Net 30	Chef's Companion	57463	8/16 oz	312	0.1380	1,200	\$43.05	\$51,659.71	5,000# Minimum shipment. Products may be combined to meet minimum shipment requirements. Pallets can be mixed when ordered in layer quantities.	3 Weeks to ensure maximum shelf life upon delivery. Many products manufactured to order whenever possible.		AWARD
1918	CASE	Alfredo Sauce - Mix Dry- Mix made with a cheese blend of chediar and parmens chosese. Add water to reconstitute. When reconstitute has a rich full body flavor with visible herbs and spices. No MSG. Shelf stable. Packaged in a single use packets. Please indicate number of packets per case. Ship Lot: 300 Cases	Foothill Farms 575T-T0700 Chef's Companion 5747920 Chef's Companion 57483 Custom Cullinary - 12935BCFP CH Guenther 94341	1200	Sysco Memphis LLC	NET30	Foothill	575T-T0700 - Sysco 5689500 - New item	8/14oz	304	\$0.1668	4	\$50.71	\$60,852.00		5-weeks		
1918	CASE	Alfredo Sauce - Mir Dry- Mir made with a cheese blend of hedder and paramesan cheese. Add water to reconstitute. When reconstituted has a rich full body flavor with visible herbs and spices. No MSG. Shelf stable. Packaged in a single use packets. Please indicate number of packets per case. Ship Lot: 300 Cases	Foothill Farms 575T-T0700 Chef's Companion 574920 Chef's Companion 57463 Custom Culinary - 1293SBCFP CH Guenther 94341	1200	CHURCHFIELD TRADING	NET30	CH GUNENTHER	94341	6 / 16oz	240	\$0.16	5	\$38.88	\$46,656.00		14 days		
2032	CASE	Orange Sauce - Lower sodium orange sauce made with soy sauce, sugar, water, vinegar, soy sauce and additional Asian flavoringer. Pret thickened, ready to use. Resealable cap. Ship Lot: 200 Cases	No Approved Brands	1000	NO BID	NO BID	NO BID	NO BID	NO BID	0	\$0.0000	#DIV/0!	\$0.00	#DIV/0!	NO BID	NO BID		NO BID

Stock	Unit	Description	Approved Brands	Estimated Number of Cases	Bidder	Bidder	Bidder Brand	Manufacturer's	Pack Size	Estimated Servings per	Cost Per	Required Number	Cost Per	Extended Total	Comments	LEAD TIME FROM ORDER	Menu Planning	AWARDS
Number	O.I.I.	Bestription	(Manufacture Product Code)	(2025-2026)	Diddei	Terms	Brand	Product Code	T don oile	Case	Serving	of Cases	Case	Cost	Comments	(IN WEEKS)	Comment	AWARDO
Column 1	Column 2	Column 3 Bid Submission: That Deviate From What is Being Requested to The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	COlumn 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	Column 6 ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19
2303	CASE	Base, Beef - Shelf stable, low actium beef base, in greate form. No acided MSG. Quiblen fee, Less than 140mg actium per serving. No preservatives or entitial flavors. Made from beef stock to include salt, sugar, and hydrolized com protein. For hot and cold applications. Approximate pack - 6/f 1b containers per case. Please indicate if packed differently. Ship Lot: 100 Cases	Nestle USA Minor 33206	300	NO BID	NO BID	NO BID	NO BID	NO BID	0	\$0.0000	#DIV/0!	\$0.00	#DIV/0!	NO BID	NO BID		NO BID
2304	CASE	Base, Chicken - Shelf stake, low sorlium chicken base. In pasile form. No added MSG. Gluten free. Less than 140mg sodium per serving. No preservatives or artificial flavors. Make from chicken stock to include vegetables and herbs. For hot and cold applications. Approximate pack – 61 the containers per case. Please indicate if packed differently.	Chef's Companion 57463 Foothill Farms 5781-10700 Nestle USA Minor 46206	300	NO BID	NO BID	NO BID	NO BID	NO BID	0	\$0.0000	#DIV/0!	\$0.00	#DIV/0!	NO BID	NO BID		NO BID
2332	CASE	Sweet Chill Sauce – Traditional chili sauce flavor. Bright red in color. Made with pursed or chopped chile pepers, vingear, sugar, sall and other spicos/seasonings. Ready to use, reseable pack. Approximate pack size: 4/1 gallon containers. Ship Lot: 200 Cases	Kikkoman 01546-0618579	500	Sysco Memphis LLC	NET30	Kikkoman	01546 - Sysco 0618579	4/2.38KG	252	\$0.2108	2	\$53.13	\$26,565.00	Remote UPS drop ship	3-weeks		AWARD
2370	CASE	Sauce, Hot Honey - Sauce with honey, cayenne and habenero peppers and other spices. Bold sweet heat flavor. Packed 4 -1/2 gallons per case. Ship Lot: 300 Cases	Ventura Foods 23700SCR	800	Sysco Memphis LLC	NET30	Ventura Foods	23700SCR - Sysco 7217622	4/0.5GAL	256	\$0.2782	3	\$71.21	\$56,968.00	Remote UPS drop ship	3-weeks		AWARD
2386	CASE	Oat Milk - Shelf stable oat based milk. To contain all nutrients to qualify as reimbursable through the USA Child Nutrition program as fluid milk. 32 oz. container. 12/32 oz. per case. Ship Lot: 25 Cases	No Approved Brands	50	NO BID	NO BID	NO BID	NO BID	NO BID	0	\$0.0000	#DIV/0!	\$0.00	#DIV/0!	NO BID	NO BID		NO BID
3100	CASE	Pickles, Dill Pickle Spears - Each plastic jar is securely sealed to prevent leakage and contains a resealable lid for each jar. Approximately packed in a case with 100 spears per jar. 4/1 gallon resealable jars per case. Ship Lot: 200 Cases	No Approved Brand	600	NO BID	NO BID	NO BID	NO BID	NO BID	0	\$0.00	#DIV/0!	\$0.00	#DIV/0!	NO BID	NO BID		NO BID
5056	CASE		Conagra Foods, Inc./ Pam (64144-63111) Vegalene 22021-4062	400	Conagra Brands, Inc.	NET 30 Days	PAM	64144-63111	6/17 oz	8784	\$0.00	0	\$19.00	\$7,600.00	Minimum Shipment 6,000 lbs	1-2 weeks ARO		AWARD
5056	CASE	vegetable oils and lecithin. To contain no water	Conagra Foods, Inc./ Pam (64144-63111) Vegalene 22021-4062	400	Sysco Memphis LLC	NET30	Conagra/Pam	6414463111 - Sysco 4583290	6/17oz	1464	\$0.0141	0	\$20.65	\$8,260.00		2-weeks		

Stock Number	Unit	Description	Approved Brands (Manufacture Product Code)	Estimated Number Needed (Each) (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Number of Containers per Case	Cost Per Container	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	Menu Planning Comments	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 15	Column 16	Column 17	Column 18	Column 19
1333	CASE	Seasoning, Garden Blend - Seasoning with a blend of spices and herb with a strong garlic and onion flavor profile. With dehydrated vegetables: carrots, tomatoes, and bell peppers. Salt free. No MSG added. Approximate Pack: 4 containers per case. Ship Lot: 200 Cases	Badia 40554	800	Badia	Net 30	Badia	40554	4/20oz	4	\$6.22	200	\$4,976.00	Pricing is delivered based on a 2,000LB minimum per order not per item	15 BUSINESS DAYS		AWARD
1338	EACH	Black Pepper Containers- Coarse Ground only, powder not acceptable. Resealable lid. Please indicate if size pack. Bid amount based on 12/16 oz. containers Ship Lot: 100 Cases	Badia 10543 Assagio Classico 707742	600	Badia	Net 30	Badia	10543	6/16oz	6	\$8.54	100	\$5,124.00	Pricing is delivered based on a 2,000LB minimum per order not per item	15 BUSINESS DAYS		AWARD
1340	EACH	Chili Powder - Spice Blend of ground dried chile, cayenne pepper, cumin, garlic powder, paprika, oregano, and onion powder. Approximate Pack: 6 containers per case. Please indicate if packed differently. Ship Lot: 100 Cases	Badia 00509	200	Badia	Net 30	Badia	00509	6/16oz	6	\$5.54	33	\$1,108.00	Pricing is delivered based on a 2,000LB minimum per order not per item	15 BUSINESS DAYS		AWARD
1343	CASE	Onion Flakes, Dehydrated - Chopped, Fancy, Approximate pack - Approximate Pack: 6 containers per case. Please indicate if packed differently.	Badia 00536	1,800	Badia	Net 30	Badia	00536	6/14oz	6	\$4.57	300	\$8,226.00	Pricing is delivered based on a 2,000LB minimum per order not per item	15 BUSINESS DAYS		AWARD
1346	CASE			1,200	Badia	Net 30	Badia	00524	6/1.5 Lbs	6	\$6.09	200	\$7,308.00	Pricing is delivered based on a 2,000LB minimum per order not per item	15 BUSINESS DAYS		AWARD

Stock Number	Unit	Description	Approved Brands (Manufacture Product Code)	Estimated Number Needed (Each) (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Number of Containers per Case	Cost Per Container	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	Menu Planning Comments	AWARDS
Column 1	Column 2	Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.		Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 15	Column 16	Column 17	Column 18	Column 19
1373	CASE	Cajun Seasoning - Seasoning to contain garlic, cayenne pepper, onion, black pepper, red and green bell pepper, herbs and spices. Case to contain 6/16 - 23 oz. plastic resealable containers. Ship Lot: 100 Cases	McCormick 974235 Assagio Classico 710558 Badia 00616	1,800	Badia	Net 30	Badia	00616	6/23oz	6	\$6.63	300	\$11,934.00	Pricing is delivered based on a 2,000LB minimum per order not per item	15 BUSINESS DAYS		AWARD
1373	CASE	Cajun Seasoning - Seasoning to contain garlic, cayenne pepper, onion, black pepper, red and green bell pepper, herbs and spices. Case to contain 6/16 - 23 oz. plastic resealable containers. Ship Lot: 100 Cases	McCormick 974235 Assagio Classico 710558 Badia 00616	1,800	Sysco Memphis LLC	NET30	McCormick	974235 - Sysco 5228424	6/18oz	6	\$14.92	300	\$26,856.00		2-weeks		
1731	CASE	Italian Seasoning - Spice blend of dried basil, dried oregano, dried rosemary, dried thyme, amd dried marjoram. Approximate Pack: 6 containers per case. Please indicate if packed differently.	Badia 00720	2,400	Badia	Net 30	Badia	00720	6/5oz	6	\$2.26	400	\$5,424.00	Pricing is delivered based on a 2,000LB minimum per order not per item	15 BUSINESS DAYS		AWARD
2344	EACH		McCormick /Imp/Mcc 974417	450	Badia	Net 30	Badia	00736	6/24oz	6	\$5.80	75	\$2,619.00	Pricing is delivered based on a 2,000LB minimum per order not per item	15 BUSINESS DAYS		NO SAMPLE SENT
2344	EACH	Seasoning, Jerk - Traditional blend of thyme, red peppers, paprika, and all spice seasoning. Bright red in color and spicy aroma. Ready to use, resealable pack. Approximate pack size: 6/1 lb containers per case. Please indicate if packed differently. Ship Lot: 200 Cases	McCormick /Imp/Mcc 974417	450	Sysco Memphis LLC	NET30	McCormick	974417 - Sysco 5517024	6/18oz	6	\$13.37	75	\$6,016.50		2-weeks		AWARD

Stock Number	Unit	Description	Approved Brands (Manufacture Product Code)	Estimated Number Needed (Each) (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Number of Containers per Case	Cost Per Container	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	Menu Planning Comments	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 15	Column 16	Column 17	Column 18	Column 19
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.													
2345	EACH	Smoked Paprika - Pure, ground, Spanish, smoked flavor. Approximate pack - 6 containers per case. Please indicate if packed differently. Ship Lot: 50 Cases	Badia 00673 McCormick 900032340	100	Badia	Net 30	Badia	00673	6/16oz	6	\$5.20	17	\$520.00	Pricing is delivered based on a 2,000LB minimum per order not per item	15 BUSINESS DAYS		AWARD
2345	EACH	Smoked Paprika - Pure, ground, Spanish, smoked flavor. Approximate pack - 6 containers per case. Please indicate if packed differently. Ship Lot: 50 Cases	Badia 00673 McCormick 900032340	100	Sysco Memphis LLC	NET30	McCormick	900032340 - Sysco 5806750	6/17oz	6	\$15.95	17	\$1,595.00		3-weeks		
2388	EACH	Seasoning, Powered Ginger- Made with 100% pure ginger root. Finest ginger root with authenic flavor. Approximate pack size: 6/1 lb containers per case. Please indicate if packed differently Ship Lot: 200 Cases		210	Badia	Net 30	Badia	00587	6/12oz	6	\$4.45	35	\$934.50	Pricing is delivered based on a 2,000LB minimum per order not per item	15 BUSINESS DAYS		AWARD
2388	EACH	Seasoning, Powered Ginger- Made with 100% pure ginger root. Finest ginger root with authenic flavor. Approximate pack size: 6/1 lb containers per case. Please indicate if packed differently Ship Lot: 200 Cases		210	Sysco Memphis LLC	NET30	McCormick	901431383 - Sysco 4827832	6/12.5oz	6	\$14.11	35	\$2,963.10		3-weeks		NO SAMPLE SENT

Stock Number	Unit	Description	Approved Brands (Manufacturer Product Code)	Estimated Number of Pounds (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Bidder Product Code	Pack Size	Estimated Pounds per Case	Cost per Pound	Required Number of Cases	Cost per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	Menu Planning Comments	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19
		Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	IN CASES.													
1267	POUND	Rice, Brown, Whole Grain, Parboiled - Whole grain, brown rice. Approximate Pack: 25 lb bag. Ship Lot: 200 Cases	Par Excellence By Producers Rice (R2PX25QC0) Uncle Ben's 12111 Uncle Ben's 423510	12,500	Sysco Memphis LLC	NET30	Uncle Bens	423510 - Sysco 7190735	1/25#	252	\$0.1178	49.6031746	\$29.69	\$1,472.72		2-weeks		Cost per pound is correct, per vendor

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	Menu Planning Comments	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered An An Acceptable Vendor Response.	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process. To be considered for the bid, a sample must be submitted for any item with no approved brand listed.	ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19
1121	SERVINGS	Eggs, Hard Bolled - Medium precooked hard boiled ages, Peeled and whole. No added preservatives. Packed in a dry pack pouch. Mast meet 1 oz. meatimes alternate for the Child Nutrition program. Approximate pack size: 144	Pappetti's 46025-85018	72,000	Robbins Sales Company Inc	N30	Papetti's	46025-85018-00	12/12ct	144	\$0.2607	500	\$37.55	\$18,775.00	n/a	2		AWARD
1121	SERVINGS	Eggs, Hard Boiled - Medium precooked hard boiled eggs. Peeted and whole. No added presentatives. Packed in a dry pack pouch. Mast meet 1 oz. meastmeat atternate for the Cride Natifron program. Approximate pack aize: 144Cause. Please provide CN label or crediting statement. Ship Lot: 200 Cases	Pappetti's 46025-85018	72,000	Sysco Memphis LLC	NET30	Pappettis	46025-85018 - Sysco 3165677	12/12CT (144)	144	\$0.2666	500	\$38.39	\$19,195.00	3-weeks - drop down in other cell			
1817	SERVINGS	Cheese, Sliced, Pepperjack - Slices to equal 1/2 oz. CN Label or crediting statement required to show the serving statement required to show the serving size of 1/2 oz. WMA. Packed: 4-5 pound blocks. Packed 640 1/2 oz. slices/case. Serving = 1 slice. Ship Lot: 200 Cases	Bongards 114441	240,000	Bongards	N30	Bongards	114441	4/5#	640	\$0.08	375	\$ 53.83	\$20,186.16		2		AWARD
1817	SERVINGS		Bongards 114441	240,000	Sysco Memphis LLC	NET30	Bongards	114441 - Sysco 7209074 - New item	4/5#	320	\$0.1868	750	\$59.78	\$44,835.00		5-weeks		
2307	SERVINGS	•	Land O Lakes 44751	200,000	Sysco Memphis LLC	NET30	Land O Lakes	44751 - Sysco 3297219 - New Item	4/5#	320	\$0.5528	625	\$ 81.69	\$51,056.25		5-weeks		AWARD
2334	SERVINGS	Cheese, Mozzarella/Provolone Blend, Shredded - blend of shredded mozzarella and proviolen pasteutrized natural cheese made from cows milk. Serving size to provide 1/2 curreal/meat stemate for the child nutrition program. Ship Lot: 200 Cases	Bongards 755361	200,000	Bongards	N30	Bongards	755361	4/5#	320	\$0.18	625	\$ 56.96	\$35,600.00		2		AWARD
2334	SERVINGS	Cheese, MozzarellaiProvolone Blend, Shredded - biend of shredded mozzarella and provolone pastuerized natural cheese made from cows milk. Serving size to provide 1/2 oz.meat/meat alternate for the child nutrition program. Ship Lot: 200 Cases	Bongards 755361	200,000	Sysco Memphis LLC	NET30	Bongards	755361 - Sysco 1962404 - New item	4/5#	320	\$0.1978	625	\$63.29	\$39,556.25		5-weeks		

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	Menu Planning Comments	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process. To be considered for the bid, a sample must be submitted for any item with no	ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19
2343	SERVINGS	Yogurt, Vanilla - Refrigerated, lowfat yogurt with sweet and smooth vanilla flavor. Uses a reduced fat mith for creamy texture. 6/64 oz. bags. Please indicate if packed differently. Ship Lot: 200 Cases	General Mills 16632000	approved brand listed.	Sysco Memphis LLC	NET30	General Mills	16632000 - Sysco 6472502	6/4#	64	\$0.4504	2,344	\$28.83	\$67,570.31		2-weeks		NO AWARD
2343	SERVINGS	Yogurt, Vanilla - Refrigerated, lowfat yogut with sweet and smooth vanillal finor. Uses a reduced tal milk for creany texture. 664 oz. bags. Please indicate if packed differently. Ship Lot: 200 Cases	General Mills 16632000	150,000	CHURCHFIELD TRADING	NET 30	GENERAL MILLS	16632000	6/64oz	65	\$0.41	2,307	\$27.26	\$62,888.82	MIN 252 EVEN PALLETS	14-21 DAYS		NO AWARD
2387	SERVINGS	Butter Flavored Whipped Cups, IW - Whipped butter spread, fluffy,airy, lightly salted, and ready for spreading of topping, Individually wrapped 5 gram portion size. Please indicate if pack size.	No Approved Brands	150,000	Sysco Memphis LLC	NET30	Ampi	4631250 - Sysco 5419353	720/5GM	720	\$0.0500	208	\$ 36.00	\$36.03		2-weeks		NO SAMPLE SENT

	Α	В	С	D	E	F	G	Н	1	J	K	L	M	N	0	P	Q	R
1	Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Pounds (2025-2026)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Pounds per Case	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	Menu Planning Comments	AWARDS
2	Column 1	Column 2	Column 3	Column 4	Column 5 Items listed are Pre-	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19
3			Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS, ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process. To be considered for the bid, a sample must be submitted for any item with no approved brand listed.	ALL SHIP LOTS ARE IN CASES.												
			Margarine- Refrigerated, 100% pure vegetable oil, solid packed,	No Approved Brands														AWARD
	1210		must be trans-fat free. Packed: 30- 1 pound pkgs/case, individually wrapped.		25,000	CHURCHFIELD TRADING	NET30	GOLD N SWEET	21547	30#	30	833	\$ 47.99	\$39,991.67	350 CS MIN ORDER	14-21 DAYS		SAMPLE SENT SAMPLE PASSED
4			Ship Lot: 250 Cases															ADD AS AN APPROVED BRAND
	1210		Margarine- Refrigerated, 100% pure vegetable oil, solid packed, must be trans-fat free. Packed: 30- 1 pound pkgs/case, individually wrapped.	No Approved Brands	25,000	Sysco Memphis	NET30	Sysco	5164175 - Sysco 5164175	30/1#	960	26	\$ 42.92	\$1,117.71		2-weeks		NO SAMPLE SENT
5			Ship Lot: 250 Cases															CLIT

Memphis-Shelby County Schools (MSCS) 2025-2026 SY Commodity Processing and Commercial Equivalent Bid Commodity Processing - Frozen By the Serving

Stock ID	Unit	Description	Approved Brand & Product Codes	Estimated Servings 2025 - 2026	Vendor	Terms	Manufacturer Brand & Product Code	Bidder's Brand & Product Code	Commodity Code(s)	Weight (Pounds)	Servings per Case	Pounds of Donated Commodity per Serving	Value of Donated Commodity per Serving	Commodity Processing Fee per Serving	Pounds of Donated Commodity per Case	Commodity per Case	Commodity Processing Fee per Case	per Serving	Commodity Value Plus Processing Fee per Case	Total Cases Required	Extended Total Commodity Processing Cost	Number of Cases per Pallet	Lead Time	Comments	MENU PLANNING COMMENTS	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response. TO BID THE BELOW ITEM YOU MUST ALSO BID THE COMMERCIAL EQUIVALENT LOCATED ON TAB COMMERCIAL EQUIVALENT FAZ/SRV	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre-Approx MSCS will accept an approva as long as It meets the bid s and (2) tested and approve MSCS's Sample Submission	ved Brands, ed equal (1) pecification ed through	ALL SHIP	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19		EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT + COMMERICAL PRICE PER UNIT	Column 22	Column 23	Column 24	Column 25	Column 26	Column 27
1014	SERVINGS	Ospote Seak Crumbles Ground beer crumbles with a loss ossitum-chappile flavored seasoning. Frozen. Made with USDA commodity self 100154. No 100, in bag product. Serving size to meet 2 or, and a loss of the chapping self self-self-self-self-self-self-self-self-	Albies/Pieper's/Pie 23315	588,800	Albie's Food Products, LLC	240 cases/3 pallets - min one SKU per pallet	Albie's 23315C	Albie's 23315C	100154	20	128	0.1674	0.6277	0.85125	21.43	80.31	66.72	\$1.48	\$147.03	4600.00	\$676,338.00	80	12-16 business days			AWARD

Memphis-Shelby County Schools (MSCS) 2025-2026 SY

Commodity Processing and Commercial Equivalent Bid Commercial Equivalent-Frozen By The Serving

							Equivalent-1102en by										
Stock Number	Unit	Description	Approved Brand & Manufacturer's Product Code)	Estimated Servings for 2025-2026	Manufacturer's Brand & Product Code	Bidder's Brand & Product Code	Bidder Terms	Estimated Servings Per Case	Cost Per Serving	Cost Per Case	Required Number of Cases	Extended Total Cost	Number of Cases per Pallet	Lead Time	Comment	Menu Planning Comments	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From	PACK SIZES FOR THE	Items listed are Pre-A	pproved Brands,	ALL SHIP LOTS ARE IN											
		What Is Being Requested In The	FOLLOWING SPECIFICATIONS	MSCS will accept an app	proved equal (1) as	CASES.											
		Specifications Below Will Be	REFLECT CURRENT AWARDS.	long as it meets the bid	specification and												
		Considered A Non Acceptable Vendor	ALL PACK SIZES WILL BE	(2) tested and approve	•												
		Response.	THOROUGHLY CONSIDERED	Sample Submissi	ion Process.												
			AND EVALUATED.														
		TO BID THE BELOW ITEM YOU MUST															
		ALSO BID THE COMMODITY ITEM															
		LOCATED ON TAB COMMODITY BID - FROZEN-SRV															
			Albies/Pieper's/Pie 23315														
		crumbles with a low sodium chipotle															
		flavored seasoning. Frozen. No soy,															
		vegetable proteins or fillers added. Boil															
		in bag product. Serving size to meet 2															
		oz. meat/meat alternate for the child					240 cases/ 3 pallets -							12-16			
1014	CEDVINICE	nutrition program. Packed		153,600	Albie's 23315	Albie's 23316	one SKU per pallet	160	128	\$128.00	960.00	\$122,880.00	\$80.00	business			AWARD
1014		approximately 4/5 lb bags per case.		133,000	Aible 5 25515	Albie 5 25510	minimum	100	120	\$120.00	300.00	\$122,000.00	300.00	days			AWAND
		Approximately 128 servings per case.					u							days			
		Please indicate if packed differently.															
		Ship Lot: 500 Cases															
		Jamp Lot. 300 cases															
				I	1	ı	ı	1			1			1	1	1	1